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Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529143
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2105294860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Phrase T-L model of teaching implies that

1. Teaching and learning are independent acts

2. Teaching and learning are integrally related acts
3. Teaching aims at learning

4. Teaching causes learning

Options :

21052919201. 1

21052919202. 2

21052919203. 3

21052919204. 4

Question Number : 1 Question Id : 2105294860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919201. 1

21052919202 2

21052919203, 3

21052919204. 4

Question Number : 2 Question Id : 2105294861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From the following list of learner characteristics, identify those which are associated with ‘field
independent’ learners

A. Focuses on facts and principles

B. Perceives global aspects of concepts and materials

C. Prefers and likes to compete

D. Can organize information by himself/herself

E. Likes to cooperate

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, Cand D only
4.C, D and E only



Options :

21052919205. 1
21052919206. 2
21052919207. 3
21052919208. 4

Question Number : 2 Question Id : 2105294861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052919205, 1
21052919206. 2
21052919207. 3
21052919208. 4




Question Number : 3 Question Id : 2105294862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be style-related competencies of an effective teacher?
A. Organized demeanour which means being orderly, clear and in control

B. Literacy which implies general knowledge as well as good at reading and writing

C. Self-efficacy which refers to a person’s self-perceived capacity to perform a task

D. Flexibility which means being sensitive and lenient

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3.Cand D only
4. D and E only
Options :
21052919209. 1
21052919210. 2
21052919211. 3
21052919212. 4

Question Number : 3 Question Id : 2105294862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052919209. 1
21052919210. 2
21052919211. 3
21052919212. 4

Question Number : 4 Question Id : 2105294863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
Scale of measurement Properties
A. Nominal . Classification and order
B. Ordinal . Classification, order and equal units
lIl. Classification, order, equal units and absclute
C. Interval
zero
D. Ratio V. Classification only

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-ILB-IL,C-1IV,D-1
4AA-IVB-I,C-1,D-1
Options :

21052919213. 1
21052919214. 2
21052919215. 3
21052919216. 4

Question Number : 4 Question Id : 2105294863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-ILB-ILC-1V,D-I
4 A-IV,B-LC-II,D-1I
Options :

21052919213. 1
21052919214. 2
21052919215.3
21052919216. 4

Question Number : 5 Question Id : 2105294864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Use of ICT is justified during teaching with a view to optimize learning outcomes

Reason R: Learning outcomes are contingent on use of ICT during teaching

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919217. 1

21052919218. 2

21052919219. 3

21052919220. 4

Question Number : 5 Question Id : 2105294864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919217 1

21052919218. 2

21052919219. 3
21052919220. 4

Question Number : 6 Question Id : 2105294865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher proposes to find out the effect of praise and encouragement during a teaching-
learning session based on Skinner's theory of reinforcement. What type of research will it
belong to?

1. Fundamental research
2. Evaluative research

3. Action research

4. Applied research
Options :

21052919221. 1



21052919222. 2
21052919223.3
21052919224. 4

Question Number : 6 Question Id : 2105294865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052919221. 1
21052919222. 2
21052919223.3
21052919224. 4

Question Number : 7 Question Id : 2105294866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: All research adds to the corpus of knowledge by advancing a theory

Statement |I: The focus of action research is basically on the amelioration of prevalent
practices

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052919225. 1

21052919226. 2

21052919227. 3

21052919228. 4

Question Number : 7 Question Id : 2105294866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919225. 1
21052919226. 2
21052919227.3
21052919228. 4

Question Number : 8 Question Id : 2105294867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List 1l

List | List Il
Key research terms Description
A. Research problems . Devices using which data are gathered

B. Research hypothesis
P II. A subset drawn from a defined set or universe

. & tentative solution or answer to a research
C. Sample of study

question

V. The research question which has to be
D. Research tools

answered

Choose the correct answer from the options given below:

TA-IV,B-N,C-1,D-1
ZA-ILB-IL,C-1,D-1IV
3A-LB-1IL,C-11,D-1IV
4 A-ILB-IV,C-I,D-1
Options :

21052919229. 1
21052919230. 2
21052919231. 3



21052919232. 4

Question Number : 8 Question Id : 2105294867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,E-U,C-1l,D-1
2ZA-ILB-ILC-1,D-1V
SA-LB-1IL,C-N,D-1V
4AA-1ILB-IV,C-1,D-1I
Options :

21052919229. 1
21052919230. 2
21052919231.3
21052919232. 4

Question Number : 9 Question Id : 2105294868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Arrange the steps in a hypothetico-deductive research in the correct sequence
A. Identifying and defining a research problem

B. Defining the population and drawing a sub-set therefrom

C. Data collection using appropriate research tasks followed by data analyses
D. Hypothesis formulation and developing a design of research

E. Taking a decision on the substantive research hypothesis via testing of the Null hypothesis
(Ho)

Choose the correct answer from the options given below

1.ADBCE
2A B CDE
3ACEBDE
4 B, A CDE
Options :

21052919233. 1
21052919234. 2
21052919235.3
21052919236. 4

Question Number : 9 Question Id : 2105294868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919233. 1
21052919234. 2
21052919235.3
21052919236. 4

Question Number : 10 Question Id : 2105294869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling techniques in research imply randomization and equal
probability of drawing the units?

A. Quota sampling

B. Snowball sampling

C. Stratified sampling

D. Dimensional sampling

E. Cluster sampling

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand E only
4. D and E only
Options :
21052919237. 1
21052919238. 2
21052919239. 3
21052919240. 4

Question Number : 10 Question Id : 2105294869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052919237. 1
21052919238, 2

21052919239. 3
21052919240. 4

Sub-Section Number : 2
Sub-Section Id : 210529144
Question Shuffling Allowed : Yes

Question Id : 2105294870 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (11 to 15)

Question Label : Comprehension

Read the passage carefully and answer the questions that follow



In the narrowest sense, price is the amount of money charged for a product or a service. More
broadly, price is the sum of all the values that customers give up to gain the benefits of having
or using a product or service. Historically, price has been the major factor affecting buyer
choice. In recent decades, however, nonprice factors have gained increasing importance. Even
so, price remains one of the most important elements that determines a firm's market share
and profitability.

Price is the only element in the marketing mix that produces revenue; all other elements
present costs. Price is also one of the most flexible marketing mix elements. Unlike product
features and channel commitments, prices can be changed quickly. At the same time, pricing is
the number one problem facing many marketing executives, and many companies do not
handle pricing well. Some managers view pricing as a big headache, preferring instead to
focus on other marketing mix elements. However, smart managers treat pricing as a key
strategic tool for creating and capturing costumer value. Prices have a direct impact on a firm's
bottom line. A small percentage improvement in price can generate a large percentage
increase in profitability. More important, as part of a company's overall value proposition, price
plays a key role in creating customer value and building customer relationships. "Instead of
running away from pricing,” says an expert, "savvy marketers are embracing it".

The price the company charges will fall somewhere between one that is too low to produce a
profit and one that is too high to produce any demand. It summarizes the major
considerations in setting price. Customer perceptions of the product’s value set the ceiling for
prices. If customers perceive that the product's price is greater that its value, they will not buy
the product. Likewise, product costs set the floor for prices. If the company prices the product
below its costs, the company's profits will suffer. In setting its price between those two
extremes, the company must consider several external and internal factors, including
competitors' strategies and prices, the overall marketing strategy and mix, and nature of the
market and demand.

Sub questions



Question Number : 11 Question Id : 2105294871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Historically price was considered important because

1. Sellers were always benefitted

2. Money was charged for product or service
3. It provided options for buyers

4. It promoted non-price factors

Options :

21052919241. 1

21052919242.2

21052919243. 3

21052919244. 4

Question Number : 12 Question Id : 2105294872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why is price different from other elements in the marketing mix?

1. It offsets cost

2. It generates revenue

3. Itis rigid in character

4. It ensures channel commitment
Options :

21052919245. 1

21052919246. 2

21052919247. 3

21052919248. 4

Question Number : 13 Question Id : 2105294873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the perception of smart managers regarding pricing?

1. It is a strategic tool for consumer value

2. It invites issues

3. It is better to focus on other elements in the marketing mix
4. It is of indirect value to the firm

Options :

21052919249. 1

21052919250.2

21052919251.3

21052919252. 4

Question Number : 14 Question Id : 2105294874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is the major determinant of pricing for product or service?

1. High demand

2. Low demand

3. Customer's value perception

4. Company's quest for high profitability
Options :

21052919253. 1

21052919254. 2

21052919255. 3

21052919256. 4

Question Number : 15 Question Id : 2105294875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the other factors influencing or setting the price for products or services?
A. Competitors' strategies

B. Over-all marketing mix

C. Type of market

D. Pricing from one extreme to the other

E. Predators pricing strategies

Choose the correct answer from the options given below:

1. A, D and E only
2. A, Band Conly
3.C, D and E only
4. B, Cand D only
Options :
21052919257. 1
21052919258. 2
21052919259. 3
21052919260. 4

Question Id : 2105294870 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (11 to 15)

Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 2105294871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919241. 1

21052919242, 2

21052919243, 3

21052919244. 4

Question Number : 12 Question Id : 2105294872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052919245 1

21052919246. 2

21052919247. 3

21052919248, 4

Question Number : 13 Question Id : 2105294873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052919249. 1

21052919250. 2

21052919251. 3

21052919252. 4

Question Number : 14 Question Id : 2105294874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. ®H HIT

3. JUMledl &1 ged SHadled

4, I ATHUCdl BT HU-l B el
Options :

21052919253. 1

21052919254, 2

21052919255. 3

21052919256. 4

Question Number : 15 Question Id : 2105294875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TG ST Harefl @i Ha ®I HIfad a1 Feid & aTed 3 RS dH-4 g 7
A. Uiaegfifal ot YorEifa

B. gAY fauur fago

C. 9I9IR &1 YbR

D. Tth WIdlie ¥ GeRl WD b diHd MR

E. TSR sl Bl BIHd YU

Hel faded g -

1. Bad A, D 3R E
2. BAUA, B AR C
3. AU C, D 3R E
4, &da B, C AR D
Options :
21052919257. 1
21052919258. 2
21052919259. 3
21052919260. 4

Sub-Section Number : 3
Sub-Section Id : 210529145
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 2105294876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication enhances the interaction of learners, it is

1. Physiological
2. Psychological
3. Artistic

4. Transient
Options :
21052919261. 1
21052919262. 2
21052919263. 3
21052919264. 4

Question Number : 16 Question Id : 2105294876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e RN, S dIsi BT A0l S d¢ldl & d9 98 aidl & ;

1. Hifd®
ERSCIGHIIEES
3. HATHD

4. &ffores
Options :
21052919261. 1
21052919262. 2
21052919263. 3
21052919264. 4

Question Number : 17 Question Id : 2105294877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Classroom communication is

A, Goal-oriented

B. Style-centric

C. Collaborative

D. Vertical

E. Non-rhetorical

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. D and E only
Options :
21052919265. 1
21052919266. 2
21052919267. 3
21052919268. 4

Question Number : 17 Question Id : 2105294877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T4 - D& TV BT © -
A. T&0-3d
B. Ycil-disd
C. GEURTHD

D. FHareR

E. TR - afdda
iq%pfﬁﬁi'_cﬂﬂ_:f:

1. &dd A 3R B
2. Had B 3R D
3. HaU A 3R C
4, HAAD ARE
Options :
21052919265. 1
21052919266. 2
21052919267. 3
21052919268. 4

Question Number : 18 Question Id : 2105294878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Allowing an issue to fester will contribute to effective communication

Reason R: A good communicator will address an issue in the classroom before it becomes
precarious

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052919269. 1

21052919270. 2

21052919271. 3

21052919272 4

Question Number : 18 Question Id : 2105294878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR gl P TN E : te iU () IR G TH (R) B ;

HiHYA (A) : [ = &I 964 o1 ° THIE! U H eradl Hedt B

d (R) : Uh HRc] YUYl ol H fodll e & Si--FEd Bl oiH ¥ Ugd I9d] GHIUH S|
SuYdd Syl & il H Fgifd fdeeal § 9 ¥81 ST g -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR Bl o
2. (A) ¥R (R) GHI T8I B &R (R), (A) DI T6l SREAT T2l 3|
3. (A) g1 B, T (R) 7T B

4. (n) a4 & g (R) TR &

Options :

21052919269. 1

21052919270. 2

21052919271. 3

21052919272. 4

Question Number : 19 Question Id : 2105294879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

Communication barriers

Description

A, Semantic

. Lack of physical clarity in channel

B. Psychological

Il. Faulty message

. Personal

lll. Poor retention

D. Physical

V. Lack of time

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :

21052919273. 1
21052919274. 2
21052919275.3
21052919276. 4

Question Number : 19 Question Id : 2105294879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gait-1 ¥ Faii-11 BT FHeH &

| Tl-Ii
U0 & HRY  [[dR0
A, ReaTi® |. §RUT (=) H Hifd® wydr &1 41d
JEeEIGRIIEG 1. Ffeguf Hem
C. HfrTd 1. FiF DIfe BT HTURY
D. Hifd® V. THG BT HYG
I feu 1T famedl § O Ol IoR &1 90 @

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :

21052919273. 1
21052919274. 2
21052919275.3
21052919276. 4

Question Number : 20 Question Id : 2105294880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Signs and symbols have internal relations to produce meanings
Statement lI: This is possible because of a network of signs through such relations

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052919277. 1

21052919278. 2

21052919279. 3

21052919280. 4

Question Number : 20 Question Id : 2105294880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIERAGAIC A g F

HYF-1 : Gobdl 3R TP | BT 37 Ia7 B F AR G949 §iaT 2
HY-1l : I8 31 YeHil & ATend ° Tobdll & Jedd b HRU GHT gl 2
e Y1 & s B FEied Gee § 9 98 SR g -

1. @Y | 3R 11 EFT TS B

2. @Y | AR I EF T B |

3. BYH-1 9 &, foog HYH-11 Tad 2|
4. HYF-1 AT g, foog BYA-11 Gel 2




Options :

21052919277. 1
21052919278. 2
21052919279. 3
21052919280. 4

Question Number : 21 Question Id : 2105294881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A man covers a distance of 22 km in 4 hours by initially walking and then jogging at speed of 4
km/hour and 10 km/hour, respectively. The distance covered by him during walking is

1. 10 km
2. 12 km
3. 15 km
4. 18 km
Options :
21052919281. 1
21052919282. 2
21052919283. 3
21052919284. 4

Question Number : 21 Question Id : 2105294881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Uah oAfdd 22 fH @1 gdl @l 4 U H 3RY H T 3R dayq Sl GIs 9 HAzk: 4 fdodly der
HIR 10 fooely HeT & 1 T 78 Bl 8| 3UD gRI dad ad B 115 gl [l 6 ?

1. 10 Tl

2. 12 fobHl.

3. 15 fobHl.

4. 18 Tl
Options :
21052919281. 1
21052919282. 2
21052919283. 3
21052919284, 4

Question Number : 22 Question Id : 2105294882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A rational number has its denominator greater than its numerator by 6. If the numerator is

increased by 4 and the denominator is decreased by 8, the number becomes g . What is the

original rational number?

11

17

5

11

7

13

13

19

Options :
21052919285. 1
21052919286. 2
21052919287.3

21052919288. 4

1.

2.

3.

4,



Question Number : 22 Question Id : 2105294882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U URHY GBA1 D1 8 3D 3 ¥ 6 318 51 Gl 3 H 4 B gl DI Wi g IREXHAY 8
mm%aﬁmgﬁraﬁ%mgtrﬁﬂumw%?

. 1
17

5
11
7
13
13
19

Options :

21052919285. 1
21052919286. 2
21052919287.3
21052919288. 4

Question Number : 23 Question Id : 2105294883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following number series
0, 6, 24,60, 120, X
What is the value of term X?

1. 180
2. 210
3. 240
4,156



Options :

21052919289. 1
21052919290. 2
21052919291. 3
21052919292. 4

Question Number : 23 Question Id : 2105294883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fdifd T gaa W fdaR difey

0, 6, 24, 60, 120, X
X BIAFFE ?

. 180
2.210
3. 240
4.156
Options :
21052919289. 1
21052919290. 2
21052919291. 3
21052919292. 4

Question Number : 24 Question Id : 2105294884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Two water pipes can fill a tank in 10 minutes and 15 minutes, respectively, if each of them is
used separately. If both the pipes are used to fill the tank simultaneously, how long will it take
to fill the tank?

1. 6 minutes
2. 8 minutes
3. 7.5 minutes
4. 9 minutes
Options :
21052919293. 1
21052919294. 2
21052919295. 3
21052919296. 4

Question Number : 24 Question Id : 2105294884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&l ofc UT3Y TG S{T-3THT e ol of UH <l @l HHS: 10 e 3R 15 fme § R a@d 5
g ST Uyl &1 St B W & 1310 Us -I1Y Wi (a1 9Y ot 2ot @i W & foa1 99g @

1. 6 e

2.8 fide
3.7.5 e
4.9 e
Options :
21052919293. 1
21052919294, 2
21052919295. 3
21052919296. 4



Question Number : 25 Question Id : 2105294885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the next term in the following letter series?
aceg, ceqi, egik, gikm, __

1. jlor

2. hjlo

3. ikmo

4. ikmgq
Options :
21052919297. 1
21052919298. 2
21052919299. 3
21052919300. 4

Question Number : 25 Question Id : 2105294885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

uifdd e Y H ST Asa 1 BT 7

aceg, ceqgi, egik, gikm, ___

1. jlor

2. hjlo

3. ikmo

4. ikmg
Options :
21052919297. 1
21052919298. 2
21052919299. 3
21052919300. 4



Question Number : 26 Question Id : 2105294886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Substance is self-caused, self-conceived and self-existent

Reason R: Substance is not caused by other causal sources but is conceived by something else
and is also existent on that

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919301. 1

21052919302. 2

21052919303. 3

21052919304. 4

Question Number : 26 Question Id : 2105294886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l sy Ru U § : vsar sifidyd (4) IR ERT T (R) B ;
HIHUTYA (A) : GO0 W-HINA, W0-YTRd 3R T e arar gidi o

dd (R) : 500 30 BRG Fidl g DI el oidl & Sfcd [HHl 31 gRT YT 8idl & 3R 394 i
HETaH e el

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052919301 1

21052919302. 2

21052919303. 3

21052919304. 4

Question Number : 27 Question Id : 2105294887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: All perceptions seem entirely loose and separate. They are conjoined but not
necessarily connected

Reason R: Since the perception of hardness is not necessarily connected with its colour, it can
be said that perceptions are loosely connected

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919305. 1

21052919306. 2

21052919307. 3

21052919308. 4

Question Number : 27 Question Id : 2105294887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l sy Ru U § : vsar sifidyd (4) IR ERT T (R) B ;

3t (o) @ vaefimRur gof T ¥ gad SR 7ud Udid 8id o1 d 999 81d & U e a:
Hafid 7e 8id g

dd (R) : dicb DRl DI HAENHIU 3T F1 Y HHaria: Y&ldd 21 & sulT g8 &gl ol 9hdl &
fob Ugalioeul gad ©U 4 Hafdd g

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052919305. 1

21052919306. 2

21052919307. 3

21052919308, 4

Question Number : 28 Question Id : 2105294888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: If there is a contestation between Sruti and Smriti, Sruti prevails over Smriti

Reason R: Sruti represents the philosophical aspect of the Vedas and Upanishads, while
Smiriti is an application of the philosophical ideas.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919309. 1

21052919310. 2

21052919311.3

21052919312. 4

Question Number : 28 Question Id : 2105294888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l sy Ru U § : vsar sifidyd (4) IR ERT T (R) B ;
3fiyepy (A) : A e 2R i & &9 ufaeef g1 &, gy, 9T @ e unidi 81t 2

dd (R) : Y Jaf 3R IuFvel & aRfe usqs & axid &, vaie Wi e Geri @1
U N B

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052919309. 1

21052919310. 2

21052919311. 3

21052919312, 4

Question Number : 29 Question Id : 2105294889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Quantity and quality of a categorical proposition decide

1. Validity

2. Invalidity

3. Mood

4. Figure
Options :
21052919313. 1
21052919314. 2
21052919315. 3
21052919316. 4



Question Number : 29 Question Id : 2105294889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fopdl geay adb areg &1 AT SR e RgfaRad & Ao sd §

1. QYT
2. JTqEaT
3. HIRT

4. 3MPId
Options :
21052919313. 1
21052919314. 2
21052919315.3
21052919316. 4

Question Number : 30 Question Id : 2105294890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following decides the figure of a categorical proposition?

1. Major term
2. Minor term
3. Middle term
4. Copula
Options :
21052919317. 1
21052919318. 2
21052919319. 3
21052919320. 4

Question Number : 30 Question Id : 2105294890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Fufeiad ¥ 4 &HF - 91 fod Gy do a1 @1 HHid S H0g B3 ?

1. 7@ UG

2 gFHAUT

3. HHH UG

4, W{Copulaj
Options :
21052919317. 1
21052919318. 2
21052919319. 3
21052919320. 4

Sub-Section Number : 4
Sub-Section Id : 210529146
Question Shuffling Allowed : Yes

Question Id : 2105294891 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (31 to 35)

Question Label : Comprehension



Based on the data in the table, answer the questions that follow

Consider the following table which contains year-wise data of installed Renewable Energy
capacity for four countries (X, Y, Z, T) over a period of 5 years from 2015 to 20189.

Year\Country X Y Z T

2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105294892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Between 2016 to 2017, which country registered maximum growth (%) in installed capacity of
Renewable Energy?

1. X

2.z

3.¥

4T
Options :
21052919321. 1
21052919322. 2
21052919323.3
21052919324. 4



Question Number : 32 Question Id : 2105294893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which country registered maximum growth (%) by 2019 with reference to year 20157

1. Z

2T

3. X

4.Y

Options :
21052919325. 1
21052919326. 2
21052919327. 3
21052919328. 4

Question Number : 33 Question Id : 2105294894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For the country 'Y, what is the average annual growth (%) of Renewable Energy capacity?

1. ~10.85 %
2. ~12.77 %
3. ~13.25%
4, ~11.65 %
Options :

21052919329.
21052919330.
21052919331.
21052919332.

AW N =

Question Number : 34 Question Id : 2105294895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

In any given year, compared to the previous year which country(s) registered maximum growth
(96)?

1.7

2. Zandy

3 Y

4 Xand Z
Options :
21052919333. 1
21052919334.2
21052919335. 3
21052919336. 4

Question Number : 35 Question Id : 2105294896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Taking all four countries together, what is the over-all increase (%) in installed capacity of
Reneable Energy in the year 2019, with reference to 20157

1.52.32 %
2.91.11 %

3. 11732 %
4,.121.81 %
Options :
21052919337. 1
21052919338. 2
21052919339. 3
21052919340. 4

Question Id : 2105294891 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (31 to 35)



Question Label : Comprehension

frgifea aifereT I AR &3 798 2015 ¥ 2019 9F 5 TUT F1 FF F IR IR S (X, V,
z, 7) ¥ fore wifia wdftevoiin oot amar & 9d-9R siwe fiu 7w §1 37 siwsl & amuR
W'ﬂ'ﬁﬁ'%ﬁ?a

WIfUd AdiHuiig Sl &9 (GwW) :
ay / G¥l X Y z T
2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105294892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tul 2016 - 2017 B &1 (U G = TAHUG Soll B WU & H ifimad afe (%) & @ 87

1. X

27

3.Y

4T

Options :
21052919321. 1
21052919322. 2
21052919323. 3
21052919324. 4



Question Number : 32 Question Id : 2105294893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

®H-9 SR+ a¥ 2015 & Y&H T 2019 T® AHIH G (%) Gol Dl g ?

1. Z

2T

3. X

4.Y

Options :
21052919325. 1
21052919326. 2
21052919327. 3
21052919328. 4

Question Number : 33 Question Id : 2105294894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sy @ U AAIEHeuia Sl &Hdl B JH1Gd aiftid afg (%) fea-i @i e ?

1. ~10.85%

2. ~12.77%

3. ~13.25%

4, ~11.65%
Options :
21052919329. 1
21052919330.2
21052919331.3
21052919332. 4

Question Number : 34 Question Id : 2105294895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Udqdi a9 @ qoH | fedl fau e ay H farg &=/ ft S=IT 5 Sii¥ddd 9is (%) Gol @i 6 7

1.7
2.ZARY
.Y
4.X 3R 7

Options :

21052919333. 1

21052919334. 2

21052919335. 3

21052919336. 4

Question Number : 35 Question Id : 2105294896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
OHl IRl 53 & e, a9 2015 & 5H # a¥ 2019 H ey Sl &1 MU &Hd § 99y
3G (%) o & 2

1. 52.32%

2. 91.11%

3. 117.32%

4. 121.81%

Options :

21052919337. 1

21052919338. 2

21052919339. 3

21052919340. 4
Sub-Section Number : 5
Sub-Section Id : 210529147
Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 2105294897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation BIOS?

1. Big Information Online System
2. Binary Input OQutput Software
3. Basic Input Qutput System

4. Binary Inner Open Software
Options :

21052919341. 1

21052919342.2

21052919343. 3

21052919344. 4

Question Number : 36 Question Id : 2105294897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
BI0S URGUff Teg DT R ET A& ?

1. @7 5B HEA AaE- fiw=d
2. G241 ZAYE #f13eYe YIeddy
3. 9f® 39Ye 3eye fiRen

4. TSI 3% 31U itedmR
Options :

21052919341. 1

21052919342, 2

21052919343. 3

21052919344. 4

Question Number : 37 Question Id : 2105294898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Computer hardware consists of

1. Computer table
2. Monitor and CPU
3. Software

4. Google

Options :
21052919345. 1
21052919346. 2
21052919347. 3
21052919348. 4

Question Number : 37 Question Id : 2105294898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HR gredmR & AT BT 8 -

1. PHR ¢ad

2. AR a1 didg
3. HiedR

4. 7

Options :
21052919345. 1
21052919346. 2
21052919347. 3
21052919348. 4

Question Number : 38 Question Id : 2105294899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is a data visualization method?

1. Line

2. Circle and Triangle

3. Pie chart and Bar chart
4. Pentagon

Options :

21052919349. 1
21052919350. 2
21052919351. 3
21052919352. 4

Question Number : 38 Question Id : 2105294899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ye weRiie gq Faifed 4 @ oi-d@ fafu g 2

1. 3@ (@)

2. g a1 Ay=

3. U713 91C aYl §R 918
4, arH

Options :
21052919349. 1
21052919350. 2
21052919351 3
21052919352. 4

Question Number : 39 Question Id : 2105294900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Nowadays many online courses are available and their popularity is increasing

Reason R: Selecting the right course from many such, is a big challenge

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919353. 1

21052919354. 2

21052919355. 3

21052919356. 4

Question Number : 39 Question Id : 2105294900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : U@ @l i@y (a) SR GHR @I dd (R) Pl T & ;
HDHYA (A) : GRIRT 98d 9 313 UredsH 3Ude & a4l 34! didbugdl §¢ Yol o
dd (R) : 39 UHR 9 9gd 4 UIdUHHl H U el UledshH &l 98- U dof gHldl o
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬂ?(mr (A) T TeI ST T8l 5

3. cﬁjlﬂl‘a"r'ﬁtm[ﬁ}wél

4. (A) TTEd 8 TR (R) Tel B

Options :

21052919353 1

21052919354. 2

21052919355.3
21052919356. 4

Question Number : 40 Question Id : 2105294901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A-F system is used in which of the following number systems?

1. Binary

2. Octal

3. Hexa - Decimal
4, Decimal
Options :
21052919357. 1
21052919358. 2
21052919359. 3
21052919360. 4



Question Number : 40 Question Id : 2105294901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A -F WUTTeH Hgifeed & € food T HoTell § Wgad Bl § 7
1. 9I5R1

2. dffaed

3. 3 ST
4. SfaHd
Options :
21052919357. 1
21052919358. 2
21052919359. 3
21052919360. 4

Question Number : 41 Question Id : 2105294902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Under Goal 4 of Millenium Development Goals, the reduction sought to be achieved in under-
five child mortality rate between 1990-2015 was to the extent of

1. Half

2. Two-third

3. Three-fourth
4, One-third
Options :
21052919361. 1
21052919362.2
21052919363. 3
21052919364. 4

Question Number : 41 Question Id : 2105294902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Ul 9o dedl & ded aigd 4 H, 94 1990 - 2015 & &d Uid g4 4§ &Y 3R &1 ard 9 a2
T AT B o drell Sird s a4 2

1. 3MMeht

2. l-faers

3. dH-9T
4.Ua - fagTg
Options :
21052919361. 1
21052919362. 2
21052919363. 3
21052919364. 4

Question Number : 42 Question Id : 2105294903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

Emitted Pollutants Environmental Impact

A, Carbon dioxide . Formation of acid rain

B. Carbon monoxide Il. Toxic and are carcinogenic

C. Nitrogen oxides lIl. Toxic and can cause respiratory diseases

D. Benzene and hydrocarbons V. Contribution to global warming as a
greenhouse gas

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-IVB-ILC-1,D-1I
SA-IVB-ILC-1,D-1
4 A-LB-ILC-I,LD-1V
Options :

21052919365. 1
21052919366. 2
21052919367. 3
21052919368. 4

Question Number : 42 Question Id : 2105294903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G- DI Tall-11 & Ty GHferd oY

gal-| gl-1l

JoHfoid Ugu® UgiaRuiiy yHId

A, DI SEIATTIES |l 37 a9l I HHE

B. BIa- AFREEES (1.3 dul RERS

C. ASeIoH ATHTESd (il TIUe JUT 49 e I & SR

D. afofi 3R V. UF UH-819H 79 & ¥U H S da= &l
HEEICIERS AR
=i fgu 7Tu fadeul § T Ul Sk &1 90 @9 ;

TA-IV,E-N,C-1,D-I
2ZA-IVB-ILC-1,D-1I
SA-IVB-ILC-1,D-1
4 A-LB-ILC-I,LD-1V
Options :

21052919365. 1
21052919366. 2
21052919367. 3
21052919368. 4

Question Number : 43 Question Id : 2105294904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contribution to global
carbon dioxide emissions

AL USA

B. China

C. Russia

D. India

E. Japan

Choose the correct answer from the options given below

1.A B DCE
2B ADCE
3.BADEC
4. A B, D EC
Options :

21052919369. 1
21052919370. 2
21052919371.3
21052919372. 4

Question Number : 43 Question Id : 2105294904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2 & 3H® BE-SE3HES S § 3% diGH & 3fdie] ®H H 9ol 4 @ UgdH @ :

A. UYU

B. A

C. ¥4

D. HIRd

E. WllUT-

i f&u e fdoredl & ¥ 98l S 9 -
1.A B DCE
2B ADCE
3.BADEC
4 A B D EC
Options :
21052919369. 1
21052919370. 2

21052919371.3
21052919372. 4

Question Number : 44 Question Id : 2105294905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A windmill with proper design considerations can be made to operate at
efficiencies in the range 60% to 65%

Reason R: The efficiency of the windmill depends on its design parameters

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919373. 1

21052919374. 2

21052919375. 3

21052919376. 4

Question Number : 44 Question Id : 2105294905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -

HYEHYA (A) : IUGd oDl U3 Tigd Big Ud- gad! 60% U 65% I dRIDa TR
TaTaH & o i 3 o1 9@t g

d (R) : U Jad| B dRIGRIadl 39 Sffdded Urdal iR R &=l 31
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052919373. 1

21052919374 2

21052919375. 3

21052919376 4

Question Number : 45 Question Id : 2105294906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From disaster mitigation measures given below, identify the measures which can be
characterized as non-structural

A. Flood dykes

B. Land-use zoning

C. Rasing of homes in flood-prone areas

D. Insurance programmes

E. Reinforce tornado safe rooms

Choose the correct answer from the options given below:

1. B and D only

2. A, B and D only
3.B, D and E only

4. A B, DandE only
Options :
21052919377. 1
21052919378. 2
21052919379. 3
21052919380. 4

Question Number : 45 Question Id : 2105294906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i f&U W SMTUeT -gHI®Ru Sur | U, 39 SUM™ (3 3Urdl) B SfHsid B3 ford/foig Srikfd &
&Y # qiffpd fhdl ol TPl & ;

A. 9I¢ dcey

B. 44 - TONT &7 R0

c. g1¢ Eifed &7 # R & W Sdl SoM
D. &IFT BIdHH

E. T GRI&d D& DI Holgd Dl
i feu TTu fasedl & 9 981 SR g -
1. Baa B 3R D

2. ®HaAA A, B AR D

3. @A B, D3R E

4. HAAA, B, D AR E

Options :

21052919377. 1

21052919378 2

21052919379. 3
21052919380. 4

Question Number : 46 Question Id : 2105294907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in the feudal society of
Europe were classified under quadrivium?

A. Grammar

B. Logic

C. Arithmetic

D. Astronomy

E. Music

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
21052919381. 1
21052919382. 2
21052919383. 3
21052919384. 4

Question Number : 46 Question Id : 2105294907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR & FHETAIC] FHG H ot X R SaRdlG! e & FHafcfad & 9 fo & of agra
(quadrivium) o WWWW?

A @I

B. dd

C. BT

D. WifeTd!

I

i feu TTu fasedl & 9 981 SR g -
1. Bad A, B3R C
2. Hdd B, C3ARD
3. HAAC, D AR E
4. BAdA DIARE
Options :
21052919381 1
21052919382, 2

21052919383. 3
21052919384. 4

Question Number : 47 Question Id : 2105294908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



National Programme for Technology Enhanced Learning (NPTEL) was initiated by the MHRD in
2003 to enhance the quality in

1. Medical education

2. Agriculture education
3. Engineering education
4. Legal education
Options :

21052919385. 1
21052919386. 2
21052919387. 3
21052919388. 4

Question Number : 47 Question Id : 2105294908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gy 2003 H HIE SHIYH G HA10 (MHRD) BRI AP1Y U] Hafdd i srisd
(NPTEL) @ FHRERId B TUiadl H GUR & o [0 & 1 741 4T :

1. Tafcoea T2ram

2. Py &

3. goil-ad fare
4, fafers e
Options :
21052919385. 1
21052919386. 2
21052919387. 3
21052919388. 4

Question Number : 48 Question Id : 2105294909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Sustainable Development Goals (SDGs) set in 2015 by the United Nations are intended to
be achieved by

1. 2025

2. 2030

3. 2035

4. 2040
Options :
21052919389. 1
21052919390. 2
21052919391. 3
21052919392. 4

Question Number : 48 Question Id : 2105294909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hgad AP ER1 3 2015 H FuiRd GuIvviiy faerd dedl (T8.3150) I ® db I U - &1
TR

1. 2025

2. 2030

3. 2035

4. 2040
Options :
21052919389. 1
21052919390. 2
21052919391. 3
21052919392. 4

Question Number : 49 Question Id : 2105294910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Modes of supply of education services

Examples of these services in education
under GATS

. Professors, teachers and researchers working
A. Mode 1 - Cross border supply abroac onia sempiorany basis

, Il. Language training companies, Local
B. Mode 2 - Consumption abroad ] g, - g P '
university and Satellite campuses

) . Distance education, Virtual education,
C. Mode 3 - Commercial presence L
Corporate training through ICT

IV. A student travels to another country to enrol
D. Mode 4 - Movement of natural persons

in a course of study/degree programme

Choose the correct answer from the options given below:

TA-IV,E-I,C-1I,D-I
2ZA-ILB-IV,C-1I,D-1
SA-ILB-U,C-1,D-1V
4 A-LB-ILC-1V,D-1l
Options :

21052919393. 1
21052919394. 2
21052919395. 3
21052919396. 4

Question Number : 49 Question Id : 2105294910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl @ G-I @1 FaH &8 -1 & e & Siaia R Gareit ot omgfd o usfaat 6 g g
- -1l H 2187 H 39 "aredi & e g

gal-| -1l

A GGfd-1: GE-OR |1 fae=l F Sl SIUR R S &R I8 U,
HTgfd f2refdh 7R Tyl

B. Usfa-2 : fag=r & |11 Hro1 ufiRrerr dufai, ®yrig fagfderey ok
C. UGfa-3 : aifvifcad (1. 3s 91 31 & A1y U greufRiam, syt faf,
Jurufd HIURE UFI&

D. UGld-4 : Widpidd  |Iv. D3 faendl sremgd & fodl ureashH / S
a3 @1 MEAFET  [@RHH 5 THiE & o guL o2 oidl &

- feu T1u fasedl & 9 981 SR g -

TA-IV,B-1,C-1I,D-1
ZA-ILB-IV,C-1,D-1I
3A-ILB-NLC-1,D-1IV
4 A-1L,B-II,C-1V,D-1
Options :

21052919393. 1
21052919394. 2
21052919395. 3
21052919396. 4

Question Number : 50 Question Id : 2105294911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ashtadhyayi was written by

1. Chanakya

2. Jivaka

3. Katyayana
4. Panini
Options :
21052919397. 1
21052919398. 2
21052919399. 3
21052919400. 4

Question Number : 50 Question Id : 2105294911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HPTH & TED § :

1. dI0T

2. SidraT

3. P

4, grfor
Options :
21052919397. 1
21052919398. 2
21052919399. 3
21052919400. 4

PART II Buddhist Jaina Gandhian and Peace Studies
Section Id : 21052956
Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529148
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105294912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Jonathan Duncan's report on an act of vandalism at Sarnath published in the "Asiatic
Researches” attracted public attention to the ruins of Sarnath. The report was published in
which year?

1. 1798

2. 1815
3.1835
41851
Options :
21052919401. 1
21052919402. 2
21052919403. 3
21052919404. 4

Question Number : 51 Question Id : 2105294912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



GRATY H WH26Y & dd R "UREeS Rafde d usiiRid |JHwE 64 o1 Ruld 4 IRy &
GYERl & Ufd Widwi-id & SThitd fddl | g Ruld 39 av yeiiard gu o :

1. 1798

2. 1815

3. 1835

4. 1851
Options :
21052919401. 1
21052919402. 2
21052919403. 3
21052919404. 4

Question Number : 52 Question Id : 2105294913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the district in Bihar in which Rounia village, the ancestral home of Bhikkhu Jagdish
Kashyap, was situated

1. Nalanda

2. Vaishali

3. Ranchi

4, Gaya
Options :
21052919405. 1
21052919406. 2
21052919407. 3
21052919408. 4

Question Number : 52 Question Id : 2105294913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fAER & 39 ol @1 UgdH DIToT o iRy SiEier =gy &1 Ugs g a1 a8

4. Tl
Options :
21052919405. 1
21052919406. 2
21052919407. 3
21052919408. 4

Question Number : 53 Question Id : 2105294914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the place where the mango grove of Pavarika, the favourite halting-place of the
Buddha, was situated:

1. Sravasti

2. Nalanda

3. Rajagarha
4. Kapilavastu
Options :
21052919409. 1
21052919410. 2
21052919411. 3
21052919412. 4

Question Number : 53 Question Id : 2105294914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Y RIH B GgdH DI oel g &l G [a8m e uraiie ol s{a- (B ol -

1. STa&IT

2. ATdgl

3. XMll]e

4, HiYdas]
Options :
21052919409. 1
21052919410. 2
21052919411. 3
21052919412. 4

Question Number : 54 Question Id : 2105294915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

At present, Kusinara, the place of the parinibbana of the Buddha is locally known as:

1. Mahaparinirvana Vihara
2. Matha Kaur Ka Kot

3. Mukutabandhana Vihara
4. Malagandha Kuti
Options :

21052919413. 1
21052919414. 2
21052919415.3
21052919416. 4

Question Number : 54 Question Id : 2105294915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



§& o URsEM & ®H HARI DI qodH H WHY TR W 68 94 9 §6H &g ?

1. HEURMAAI fdgrR
2. 14T HR P Dl
3. Hpcad fagr

4, Have Hel
Options :
21052919413. 1
21052919414. 2
21052919415. 3
21052919416. 4

Question Number : 55 Question Id : 2105294916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ajatasatru calls him the most foolish and the most ignorant of all the teachers he had met.
Identify the teacher from the options given below

1. Safijaya Belattihiputta
2. Makkhali Gosala

3. Pakudha Kaccayana
4, Parana Kassapa
Options :

21052919417. 1
21052919418. 2
21052919419. 3
21052919420. 4

Question Number : 55 Question Id : 2105294916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IR U e ard el & 53 Jaifis g9 3R Faiid sHbY dedl ol Fafiied
fadedl H U 34 g B UgdH DIt ;

1. ¥org dafgqd
2. ARG T
3. U i+
4. YU &HY
Options :
21052919417. 1
21052919418. 2
21052919419. 3
21052919420. 4

Question Number : 56 Question Id : 2105294917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the correct number of the factors (Angas) of enlightenment (Bodhyanga) from the
options given below :

1.7

2.8

3.12

4.4

Options :
21052919421. 1
21052919422. 2
21052919423. 3
21052919424. 4

Question Number : 56 Question Id : 2105294917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fofoiad faecl § O gHca @) & SRE! & Yl T & UggH SIfvg ;

1.7

2.8

3.12

4.4

Options :
21052919421. 1
21052919422. 2
21052919423.3
21052919424. 4

Question Number : 57 Question Id : 2105294918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of groups of the Bodhipakkhiya Dhamma from the contemplations to the
Eightfold path, form a whole of thirty-seven items, and they for long remained a summary of
the positive aspects of the doctrine. This number is

1.4

2.7

3.8

4.12

Options :
21052919425. 1
21052919426. 2
21052919427. 3
21052919428. 4

Question Number : 57 Question Id : 2105294918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



3{PifTe A7l & a7 9 Siftufieg o & 9981 & 98 $d Sdig Hal &1 HHE10 &l g SR 4
T THY d@ 39 fgid & 9eRIHS U8 ST IR G ¢ U &l 6 -

1.4

2.7

3.8

4.12

Options :
21052919425. 1
21052919426. 2
21052919427. 3
21052919428. 4

Question Number : 58 Question Id : 2105294919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the origin of suffering as per the second noble truth in Buddhism :

1. Bad Karma
2. ldolatry

3. Craving

4. Sin

Options :
21052919429. 1
21052919430. 2
21052919431. 3
21052919432. 4

Question Number : 58 Question Id : 2105294919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i v # fEdig o U9 & o UR 5@ &1 Sdf @ UgaH St :

1. GAhH

2. Ffeiga

3. dUgl

4. Ulg
Options :
21052919429. 1
21052919430. 2
21052919431.3
21052919432. 4

Question Number : 59 Question Id : 2105294920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the section which branched off from Sthaviravadins along with Vajjiputtakas :

1. Vastiputriya

2. Sammitiya

3. Dharmaguptika
4. Mahisasaka
Options :
21052919433 1
21052919434. 2
21052919435. 3
21052919436. 4

Question Number : 59 Question Id : 2105294920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



39 TUGH & UgdH Bitold ol afeqad| & 91y RIfRaredl ¥ e o 747 4T -

1, AT
2. O

3. s

4, AfgETESD
Options :
21052919433. 1
21052919434. 2
21052919435.3
21052919436. 4

Question Number : 60 Question Id : 2105294921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The monolithic edict column of King Asoka was broken into pieces by

1. Qutub-ud-din

2. Bakhtiyar Khilji

3. Mohammad Ghori
4. Aurangzeb
Options :
21052919437. 1
21052919438. 2
21052919439. 3
21052919440. 4

Question Number : 60 Question Id : 2105294921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



THIE 3E® & UHRAY YH0E WH I fog- drsr a2

1.9q9 - 3G - GH
2. IIETOR il
3. HigHE IRl

4. SRS
Options :
21052919437. 1
21052919438. 2
21052919439. 3
21052919440. 4

Question Number : 61 Question Id : 2105294922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the place where King Bimbisara met Siddharth Gautam after his Mahabhiniskramana

1. Saptaparni cave
2. Anupiya

3. Griddhakata Hill
4, Pandava Hill
Options :
21052919441. 1
21052919442.2
21052919443. 3
21052919444. 4

Question Number : 61 Question Id : 2105294922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T8 ™ B UgdH B2 olg) g4l [aaaR g Tian € 39 HelHi-shav & gyq & o

1. Fuuff T

2. U

3. G®¢E UBlS|
4. JIugd Uglel
Options :
21052919441. 1
21052919442, 2
21052919443, 3
21052919444, 4

Question Number : 62 Question Id : 2105294923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the I-tsing, Buddhists of Champa (Vietnam) generally belong to

1. Arya Sammitiya School
2. Mahasamghika School
3. Mahisasaka School

4. Sammitiya School
Options :

21052919445. 1
21052919446. 2
21052919447. 3
21052919448. 4

Question Number : 62 Question Id : 2105294923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ST & SFER 991 ([GaaHH) & alg 9Ea: Jafed 4 -

1. AaEIG 9ue™
2. HeIgifd® §uey
3. Algg® Sue™
4, giFfGg duey
Options :
21052919445. 1
21052919446. 2
21052919447. 3
21052919448. 4

Question Number : 63 Question Id : 2105294924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given the below two statements: one is labelled as Assertion A and the other is labelled as
Feason R

Assertion A: Buddha responded to the question of cosmic beginning by not answering it.
Reason R: The Buddha declared such questions which could not be answered, avyakaraniya.

In the light of the above statements, choose the most appropriate answer fro the options
given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052919449. 1

21052919450. 2

21052919451. 3



21052919452. 4

Question Number : 63 Question Id : 2105294924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gl By RU TN E : U & AU (4) R GO &I db (R) Hel T g
HBUT (A) : §5 - FAUS IA & T BT TR 9B 3R Tal ad gd @I 4|
dd (R) : 95 - U Uy foFo1 SR el fean ol Tdhdl &l ooy giftd far|
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) AR (R) THI LT § 91R (R), (A) T &1 BN EN

2. (A) 3R (R) G HE1 & T (R), (A) BT §E1 ARG ] & |

3. (A) WE1 & U (R) W1 81 |

4. (A) el 761 8 g (R) TeI €|

Options :

21052919449, 1

21052919450 2

21052919451.3
21052919452. 4

Question Number : 64 Question Id : 2105294925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the similarities between the Brahmi and the U-chan scripts?
A. Left to Right

B. Same height of letters

C. Zig-Zag Lines

D. Maintaining the same height for complex letters

E. The same number of vowels

Choose the correct answer from the options given below

1. A, C, Donly
2. A, D, Eonly
3. A B, Donly
4. A, B, Conly
Options :

21052919453. 1
21052919454. 2
21052919455. 3
21052919456. 4

Question Number : 64 Question Id : 2105294925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



STl TU1 3 - = o7t & ofg & -3 H O 9HEa §
A §T5 9 alg R

B. (&R @ 9HF $Han

C. 33l - favat arsA

D. §gad H&R! ®1 GHM $als a-1d TE-]

£, R B gaE 9@
i feu TTu fasedl & 9 981 SR g -

1. @A A, C, D
2. PadA, D, E
3. BAdA, B, D
4, HIAA, B, C
Options :

21052919453, 1
21052919454, 2
21052919455, 3
21052919456. 4

Question Number : 65 Question Id : 2105294926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order (First to Last).
A. Kripasarana was ordained as monk / Sramanera

B. Foundation of Buddha Dharmankura Sabha

C. Foundation of Bengal Buddhist Association at Shimla

D. Foundation of Bengal Buddhist Association at Ranchi

E. Foundation of Bengal Buddhist Association at Jamshedpur

Choose the correct answer from the options given below

1.A B ED,C
2B CDEA
3.CD,EAB
4. A B, C D, E
Options :
21052919457 1
21052919458. 2
21052919459. 3
21052919460. 4

Question Number : 65 Question Id : 2105294926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafifiad &l dIasHER afyd Sifel ;
A. PURRY &1 THg] / YTHUR & =0 H araf e 4
B. A1 YHIHR GHT DI RITTA]

C. FRrHa # 97 dig THITTEE &1 Al
D. Il H &7d sl CHIRIURH &1 ®IUAT

£, SHRIGUR H SIS @lg UEIRIURH B =I5
i feu TTu fasedl & 9 981 SR g -
1.A, B, ED,C

2.B,C,D,E A

3.C,D,E A B

4.A B CD,E

Options :

21052919457. 1

21052919458 2

21052919459. 3
21052919460. 4

Question Number : 66 Question Id : 2105294927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following works in chronological order
A. Tattva Sangraha

B. Bhavnakrama

C. Catuhsataka

D. Prajiia pradeepa

E. Bodhicaryavatara

Choose the correct answer from the options given below

1.AECDB
2CDEAB
3.CD A BE
4.B,C,D A E
Options :

21052919461. 1
21052919462. 2
21052919463. 3
21052919464. 4

Question Number : 66 Question Id : 2105294927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafdiiEd Bidal o PIapHNER HaRyd BifeT ;
A, TEHTB
B. HIG-TshH
C. Ig:Idd
D. WY

| BPERIGGIR

i f&u e fdoredl & ¥ 98l S 9 -
1.AE C,D,B

2.C,D,E A B

3.C,D,A B E

4.B,C,D,AE

Options :

21052919461. 1

21052919462, 2

21052919463. 3
21052919464. 4

Question Number : 67 Question Id : 2105294928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following custodians of the samgha as per the year of their death in descending
order (Last to First):

A. Siggava

B. Dasaka

C. Buddha

D. Upali

E. Sonaka

Choose the correct answer from the options given below

1. A EBD,C
2.CD/BEA
3.CD,EAB
4. A ECBD
Options :

21052919465. 1
21052919466. 2
21052919467. 3
21052919468. 4

Question Number : 67 Question Id : 2105294928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Y & Fafafad e of 3@ 5 & ad & IR Haie! H9 § cafyd sifey ¢ifaa ¥
uys)

A FemEa

B. a[{{d

C.g&
D. 3UIfel

E. 0T
i feu TTu fasedl & 9 981 SR g -

1. A EBD,C
2.CD/BEA
3.CD,EAB
4. A ECBD
Options :

21052919465. 1
21052919466. 2
21052919467. 3
21052919468. 4

Question Number : 68 Question Id : 2105294929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the most appropriate answer from the given options based on your understanding of
the Madhyamika School of Buddhism.

A. Nagarjuna is considered as the founder

B. Dinnaga is one of the prominent teachers of this School

C. Madhyamika Karika is not considered as the main text

D. There is no difference between Samsara and Sunyata

E. Nagarjuna describes Pratityasamutpada by means of eight negatives
Choose the correct answer from the options below:

1. A, B and C only
2. B, Cand D only
3. A, DandE only
4. A, B and D only
Options :
21052919469. 1
21052919470. 2
21052919471. 3
21052919472. 4

Question Number : 68 Question Id : 2105294929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



di v o Mefte GaRyRT GaH M0 99 & R R G 7 @l & 3 vaifie Suge
IR @I 98- DIfL :

A. TRTISH & GRS HHT 91 3 |
B. fog-TMT @l 34 f[AaRYRT &1 ReATd ey JH1 §rdl g

C. H1AE® SIS &I UHE = Fal HH Srdl |
D. §UR Y1 YA H iy 4G 1ol o

E. RTIGH ¥ Fue A1eH I UdiagddIg &1 duiH &d g
i feu TTu fasedl & 9 981 SR g -

1. Had A, B AR C

2. Had B, C AR D

3. Had A DARE

4, HAA A, B, IR D

Options :

21052919469. 1

21052919470. 2

21052919471.3
21052919472. 4

Question Number : 69 Question Id : 2105294930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Mahaparinibbana Sutta mentions the six important cities where the Buddha had a large
following. The names of the cities are given below

A. Campa, Savatthi, Rajagaha, Saketa

B. Savatthi, Rajagaha, Saketa, Kausambi

C. Savatthi, Rajagaha, Uruvela, Lumbini

D. Savatthi, Kausambi, Lumbini, Uruvela

E. Lumbini, Varanasi, Kusinara, Isipattana

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and E only
4. B and E only
Options :
21052919473. 1
21052919474. 2
21052919475.3
21052919476. 4

Question Number : 69 Question Id : 2105294930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HEMARHEE T H 34 &: Hew@ Ul 7RI & 3ccid ¢ ool 9% o HJaHl g §ea § ¥ 39 RI

A. 9T, G1aid, IISFTE, "idbd

B. WG, ISHTE, Hidhd, HIRII
C. UG, I&aq, e, g
D. TIafd, SR, qia-], 3&da

£, T, RO, SHERT, S9IGTH
i feu TTu fasedl & 9 981 SR g -

1. BAd A, B
2. Had B, D
3. BadA, E
4, BB, E
Options :

21052919473,
21052919474,
21052919475,
21052919476.

AW N =

Question Number : 70 Question Id : 2105294931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



There is no sin in killing or harming anyone, stealing or adultery; there is no merit in
performing yajfia, dana or speaking the truth. There is no good result or merit for penance.
This world or heaven or hell, all are imaginary.

The above is true for which of the following?

A. Nirgranth jAatiputra

B. Ajita Kesakambali

C. Safijaya Velatthaputra

D. Parana Kasyapa

E. Pakudha Katyayana

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. Cand D only
Options :
21052919477. 1
21052919478. 2
21052919479. 3
21052919480. 4

Question Number : 70 Question Id : 2105294931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Bl fbdl &I 5l Bl & SYdl 34 &fd UgdIdl 8, IRl &l 81, IR &H Bl &l dl 9 g
1 21 U9 B, GH o HUdl Gl gdH did- H dig 0 el | WIS & U s =81 gRumE
HYdT T[0T el | Ug fay a1 vl a1 R - Tl SreaHd 81 SWiad FHafalad 7 4 foad fou gl &

IMEPRIRIIGIE
B. Mfordm e act

C. g3gaaiz g

D. RIVIGTRAY

MERGARILE]

i feu TTu fasedl & 9 981 SR g -
1. Had A 3T B

2. HaAB AR C

3. BAAB AR D

4. ®Had C 3R D

Options :

21052919477. 1

21052919478, 2

21052919479. 3
21052919480. 4

Question Number : 71 Question Id : 2105294932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The topic of discussion about aggregates is NOT found in which of the following texts?
A. Dhammasangani

B. Kathavatthu

C. Dhatu Katha

D. Vibhanga

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3. A and D only
4. B and C only
Options :
21052919481. 1
21052919482. 2
21052919483. 3
21052919484. 4

Question Number : 71 Question Id : 2105294932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hyfaugs 941 39 9 H 81 fHadl -
A. YEEIE!

B. YUY

C. UTqdYl

D. Ty

i feu TTu fasedl & 9 981 SR g -
1. Had A 3T B
2. HAA C 3R D
3. BATASMRD
4. BAAB 3R C
Options :
21052919481 1
21052919482, 2

21052919483. 3
21052919484. 4

Question Number : 72 Question Id : 2105294933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Nagarjuna, the founder of the Madhyamika School, was followed by a galaxy of scholars such

as:
A. Dinnaga

B. Candrakirti

C. Buddhapalita

D. Dharmakirti

E. Aryadeva

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and E only
3.B,Cand D only
4. A, Cand E only
Options :
21052919485. 1
21052919486. 2
21052919487. 3
21052919488. 4

Question Number : 72 Question Id : 2105294933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AAiHS YUCH & YRIGdH ARTeH @ 96 HEfiRad UeAd fdgH gu:
A, e
B. Tt

C. gegurferd

D. YHBIT

E. 3micg

i f&u e fdoredl & ¥ 98l S 9 -
1. Bad A, B, C

2. Hdd B, C, E

3. HAAB, C, D

4. HdAA, C E

Options :

21052919485. 1

21052919486. 2

21052919487. 3
21052919488. 4

Question Number : 73 Question Id : 2105294934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the forces that keep the cycle of rebirths in operation and the destruction of which can
bring self-control in oneself

A. Sankhara

B. Avijja

C.Tanha

D.Sadayatna

E. Samadhi

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. Cand E only
Options :
21052919489. 1
21052919490. 2
21052919491. 3
21052919492. 4

Question Number : 73 Question Id : 2105294934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



31 9l &1 UgdH @1 &l §HuH & deb Pl IAFHM I9d & Ud fordd ARl 814 o HTEHH 31dl &

A, HWR

B. 3ffdwll

C. dugl

D. USdd

E. THIE

i feu TTu fasedl & 9 981 SR g -
1. Had A 3T B
2. HaAB AR C
3. BAAB AR D
4. ®ad C AR E
Options :
21052919489. 1
21052919490, 2

21052919491. 3
21052919492. 4

Question Number : 74 Question Id : 2105294935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Theory of no action l. Makkhaligosala

B. Will not give instruction to monks|ll. Parana Kassapa

C. Determinist lll. Right Awareness

D. Four kinds of Mindfulness V. Eight Guru Dhamma

Choose the correct answer from the options given below:

T.A-IV,B-1,C-1,D-1
2ZA-1L,B-IV,C-1,D-1I
3A-ILB-IV,C-1,D-1I
4 A-1,B-IV,C-II,D-1I
Options :

21052919493. 1
21052919494. 2
21052919495. 3
21052919496. 4

Question Number : 74 Question Id : 2105294935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| -1l

A. 3fshaTdalg o gl . HRGIeRTYTS
B. feai @i (e et I QRAHEY
C. Fremardd 1. gH@
D. [ddPefididl & IR YR V. 3F TE 4
-d feu T fapenl H 9§ 98l SR 9T :

TA-IV,B-1,C-1, D-1
ZA-1L,B-IV,C-1, D-1I
3A-ILB-IV,C-1, D-1I
4 A-1,B-IV,C-1I, D-11
Options :

21052919493. 1
21052919494. 2
21052919495. 3
21052919496. 4

Question Number : 75 Question Id : 2105294936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

A. Sanchi stupa  |l. First Indian who became monk stayed at this place
B. Bhattiprolu II. A bas-relief discovered

C. Kushinagara  |lIl. First relic-casket of Buddha discovered

D. Bharhut StupallV. First Buddhist shrine discovered in Modern India

Choose the correct answer from the options given below:

T.A-IV,B-1I,C-1,D-1
ZA-IV,B-I,C-1I, D-1I
3JA-ILB-NL,C-1, D- IV
4 A-ILB-1,C-1I, D-IV
Options :

21052919497. 1
21052919498. 2
21052919499. 3
21052919500. 4

Question Number : 75 Question Id : 2105294936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :
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C. PR (I §5 I UG Y HeuT UI g3
D. Rga WU |Iv. 3MYFP YR & i ugar s WU
<4 fGu T fadedl H 9§ 98l SR 9T ;

TA-IV,B-N,C-1, D-1
ZA-IV,B-1,C-1lIl, D-1l
SA-ILB-UL,C-1, D-1IV
4 A-ILB-LC-1, D-IV

Options :

21052919497. 1
21052919498. 2
21052919499. 3
21052919500. 4

Question Number : 76 Question Id : 2105294937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Harsha .. Attended the assembly invoked in honour of Yuan
Chwang by Harsha

B. Bhaskaravarmana Il. Yuan Chwang was escorted by Bhaskara Varmana to
the frontier on his return

C. Pulakesin Il lIl. Met Yuan Chwang at Nasik

D. Yuan Chwang V. Built Bronze temple at Nalanda

Choose the correct answer from the options given below:

TA-NLB-IV,C-1,D-1
ZA-IV,B-1,C-1l, D- 1l
3A-IV,B-I,C-1I, D-1
4 A-ILB-IV,C-1l, D-1
Options :

21052919501. 1
21052919502. 2
21052919503. 3
21052919504. 4

Question Number : 76 Question Id : 2105294937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-NLB-IV,C-1, D-1I
2ZA-IV,B-1,C-1, D-1l
3A-IV,B-I,C-1I, D-1
4 A-ILB-IV,C-1l, D-1
Options :

21052919501. 1
21052919502. 2
21052919503. 3
21052919504. 4

Question Number : 77 Question Id : 2105294938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Vijiiana (Consciousness)|l. Man with an arrow in his eye

B. Avidya (Ignorance) Il. Potter with wheel and pots

C. Vedana (Feeling) lIl. Monkey climbing a tree

D. Samskara (Aggregates) (IV. A blind man with a stick

Choose the correct answer from the options given below:

TA-ILB-1,C-IV,D-1
ZA-ILB-IV,C-I, D- 1
3A-ILB-IV,C-1l, D-1
4 A-ILB-1,C-1I, D-IV
Options :

21052919505. 1
21052919506. 2
21052919507. 3
21052919508. 4

Question Number : 77 Question Id : 2105294938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-1,C-1V, D-1l
2ZA-1ILB-1V,C-1, D-I1
3A-ILB-IV,C-1l, D-1
4 A-ILB-1,C-1I, D-IV
Options :

21052919505. 1
21052919506. 2
21052919507. 3
21052919508. 4

Question Number : 78 Question Id : 2105294939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Based on the understanding of Pali literature, which of the following are true?
A. Digha Nikaya consist of three books

B. Digha Nikaya contains 34 Suttas

C. Brahmajala Sutta has four parts

D. Brahmajala Sutta is the first Suttanta of the Digha Nikaya

Choose the correct answer from the option given below:

1. A, B and D only
2. A, Band Conly
3.B,Cand D only
4 A B CandD
Options :
21052919509. 1
21052919510.2
21052919511. 3
21052919512. 4

Question Number : 78 Question Id : 2105294939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TIfer Wifecd @1 99 & SMYR R Fefafaa nsl & 9w ©
A S FEEE I T 8

B. e e H 34 gA ¢

C. SRS 99 & IR T &

D. SETolldl Y ard Mo/ &l WYH gud o
i feu TTu fasedl & 9 981 SR g -

1. BadA, B, D

2. ®BAAA, B, C

3. ®adB, C, D

4.A.B,CD

Options :

21052919509. 1

21052919510. 2

21052919511. 3
21052919512. 4

Question Number : 79 Question Id : 2105294940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following pairs is correct?

1. Acaranga Satra - Upanga

2. Dasavaialiyam - Sauraseni

3. Bhagavar - Calika

4. Rayapaseniya - Ardhamagadht
Options :

21052919513. 1



21052919514. 2
21052919515. 3
21052919516. 4

Question Number : 79 Question Id : 2105294940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Faad 4 eHa gH e B -

1. HTERATG - JURT

2. GRS - RIRYAT
3. WiTds - el

4, IAGUAY - SGATTER
Options :

21052919513. 1
21052919514. 2
21052919515. 3
21052919516. 4

Question Number : 80 Question Id : 2105294941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Jainism, the meaning of the term 'Nirjara’ is

1. To stop the incoming Karma

2. Multiple choice "dimensions”

3. Gradually to be free from accumulated actions (Karmas)
4, Environmental Protection

Options :

21052919517. 1

21052919518. 2

21052919519. 3



21052919520. 4

Question Number : 80 Question Id : 2105294941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o vH & ER - el e EE R

1. AT B DI Al

2. dgfdmcdid ™

3. SHHRI: YUfgd &H 9 Hidd
4. qgTaur G0

Options :

21052919517. 1
21052919518. 2
21052919519. 3
21052919520. 4

Question Number : 81 Question Id : 2105294942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify from the following, the kinds of ‘Srutajiiana’

1. Anga-Pravista and Anga-Bahya
2. Bhava Pratyaya and Gunasthana
3. Avagraha-lha- Avaya-Dharana
4. Anugami and Ananugami
Options :

21052919521. 1

21052919522.2

21052919523. 3

21052919524. 4



Question Number : 81 Question Id : 2105294942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafciad H ¥ 4oai- & YoR &l UgdH -

1. 3T 3R &

2. 4d Ty AR ORHE

3. 3{aUE - S8 - A - YR
4. T AR ST
Options :

21052919521. 1

21052919522. 2
21052919523. 3

21052919524. 4

Question Number : 82 Question Id : 2105294943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tiloyapannattl is written by:-

1. Siddhasena

2. Haribhadra Sari
3. Yativrsabha

4. Puspadanta
Options :
21052919525. 1
21052919526. 2
21052919527. 3
21052919528. 4

Question Number : 82 Question Id : 2105294943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



oty guord fordi 15 & -

1. fsTH

2. 8RYE IR
3. gfaquy

4, qugd
Options :
21052919525. 1
21052919526. 2
21052919527. 3
21052919528. 4

Question Number : 83 Question Id : 2105294944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The term "Yatnacara' in Jainism is related to the ecological protection of

1. Triratna

2. Samthara

3. Ahimsa

4. Asrava
Options :
21052919529. 1
21052919530. 2
21052919531. 3
21052919532. 4

Question Number : 83 Question Id : 2105294944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sy - gaEr niffaeTs Siam & fow sad d6fid § -

1. BR4E
2. QYR

3. 3ffgwn
4, 3Ed
Options :
21052919529. 1
21052919530. 2
21052919531. 3
21052919532. 4

Question Number : 84 Question Id : 2105294945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The characteristics of 'Dharma’ substance in Jainism is constituent of

1. Purification of defilements
2. Belief of Atma

3. Study of religious books
4, Assistance in motion
Options :

21052919533. 1

21052919534. 2

21052919535. 3

21052919536. 4

Question Number : 84 Question Id : 2105294945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



S A o o Prefifed A 4 sU YA A g B B

1. I B gl
2. 3TET R fayrg
3. U1 Tl @1 3rema

4. 7Ifq & WEAH
Options :
21052919533. 1
21052919534. 2
21052919535. 3
21052919536. 4

Question Number : 85 Question Id : 2105294946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the Jaina theory of Karma, the word 'Aghati ' refers to

1. JAanavarana
2. Mohaniya

3. Gotra

4. Vedaniya
Options :
21052919537. 1
21052919538. 2
21052919539. 3
21052919540. 4

Question Number : 85 Question Id : 2105294946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SH &1 fOGid § ofumdr Wes 34 gfud dRdl & -

1. FHIGIT

2. Alg-g
3.7

4. deg
Options :
21052919537 1
21052919538. 2
21052919539. 3
21052919540. 4

Question Number : 86 Question Id : 2105294947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Mathura Jain Stdpa is known as

1. Ayagapatta
2. SaraKapa

3. Karhkali Tila
4. Karhkali Devi
Options :
21052919541. 1
21052919542. 2
21052919543.3
21052919544. 4

Question Number : 86 Question Id : 2105294947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HYRT i WU Bl -1 Sl 8 :

1. AEEUE

2. DY

3. SapTeit il
4. HepTcH ¢dl
Options :
21052919541. 1
21052919542. 2
21052919543. 3
21052919544. 4

Question Number : 87 Question Id : 2105294948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The earliest Jain statue is located at

1. Varanasi

2. Patna

3. Jaipur

4, Sravana Belagola
Options :
21052919545. 1
21052919546. 2
21052919547. 3
21052919548. 4

Question Number : 87 Question Id : 2105294948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PIEIEREACE R GRTAE

1. IRTOTHT

2. el
3.9y

4. AU
Options :
21052919545. 1
21052919546. 2
21052919547. 3
21052919548. 4

Question Number : 88 Question Id : 2105294949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Chausatha Yogini Mandir is located at

1. Khajuraho
2. Mount Abu
3. Ellora

4. Deogarha
Options :
21052919549. 1
21052919550. 2
21052919551.3
21052919552. 4

Question Number : 88 Question Id : 2105294949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d1es giftr Afe U B -
1. GRTE!

2. HIZUC AT
3. TR

4. G
Options :
21052919549. 1
21052919550. 2
21052919551. 3
21052919552. 4

Question Number : 89 Question Id : 2105294950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The biggest image of Adinatha is located at

1. Khajuraho (M.P)

2. Lohanipur (Bihar)

3. Abu-Delwara (Rajasthan)

4. Mangt-Tungi (Maharashtra)
Options :

21052919553. 1

21052919554. 2

21052919555.3

21052919556. 4

Question Number : 89 Question Id : 2105294950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1Y 1 Had g1 UicH FRUd 8

1. WoRTe! ([.H)

2. QIEHIR (§&R)

3. 3T QUdrsl (TeTeT)
4. A G (HERIE)
Options :

21052919553. 1
21052919554, 2
21052919555. 3
21052919556. 4

Question Number : 90 Question Id : 2105294951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Description of 'Jagannatha Sabha' is found at

1. Sravanabelagola
2. Ellora

3. Patan

4. Khajuraho
Options :
21052919557. 1
21052919558.2
21052919559. 3
21052919560. 4

Question Number : 90 Question Id : 2105294951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SRTATY GHT &1 gui- Jgl fHadl o :

1. YUTSTTTIC
2. TEaRI

3. 4icd
LRREE R 6
Options :
21052919557. 1
21052919558. 2
21052919559. 3
21052919560. 4

Question Number : 91 Question Id : 2105294952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: "The Earth has encugh for our needs, not for our greed".
Reason R: Desires are limitless as the sky (lccha hu agasasama anantiya)
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052919561. 1

21052919562. 2

21052919563.3

21052919564. 4



Question Number : 91 Question Id : 2105294952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TR FERUTE: @ & AUGYT (4) IR T DI T (R) Bel ™ol

HHY (A) : T & U BHN adHdI3i & (o8 Taid aeqU &, g91K e & 1078 el

dd (R) : ST B B de AT § (G551 § AT uifaa)
IWdd YA & 3HTeiie J Fgifed fadedl § I affds 3ugdd S 9H -

1. (A) 3R (R) TFT 981 & 3R (R), (A) BT Jel ARAT &

2. (A) 3R (R) THT &l § IR (R), (A) ! e ARAT T81 o
3. (A) 981 € TR (R) Wl Tl &

4. (A) WEI 81 3 IR (R) WEI B

Options :

21052919561 1

21052919562 2

21052919563, 3

21052919564. 4

Question Number : 92 Question Id : 2105294953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Things increase the decoration of man. Beauty is artificial.
Statement lI: Purity of emotions breaks the boundary of behaviour.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052919565. 1

21052919566. 2

21052919567. 3

21052919568. 4

Question Number : 92 Question Id : 2105294953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIEAGIE AR

HY - | : TG AT B HEER H Jhg Bl &, Gazal DA ¢

T - 1| : YAl BT IRRYGd FTER B UIHI BT AIHHY B I o
IRa Byl & el H Fafiied faseal # 9 gaiite 3uged 3w g4 :
1. BT | IR 1 EGH S B

2. T | 3R 1 B TE TR R

3.HYIGel e, gy 1 Tad g |
4. DY |1 TTad &, fod Y 11 TRT B




Options :

21052919565. 1
21052919566. 2
21052919567. 3
21052919568. 4

Question Number : 93 Question Id : 2105294954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronclogical order from first to last
A. Composed the Pravacanasara text

B. The author Hemacandra-Acarya

C. Dhawala Tika written by Virasena

D. Birth of Lord Mahavira

E. Third Vallabhi Canonical Recitation (vacana)

Choose the correct answer from the options given below

1.D,ELA CB
2D, CAEB
DA ECE
4 A CDEE
Options :

21052919569. 1
21052919570. 2
21052919571. 3
21052919572. 4



Question Number : 93 Question Id : 2105294954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FUfaad @ 393! dIaaiy & R Ty 4 ifaH) w0 J T :
A. UGITHR T &I 1

B. T ® edd5 A

C. R gR1 fafad yad diar

D. HITd HETdR & FH

E. JoIg deaHT SFTHS AT

1 feu U fahedl & O 98l SR g -
1.D,E A C B

2.D,C,AEB

3.D,AECB

4.A CDBE

Options :

21052919569. 1

21052919570. 2

21052919571. 3
21052919572. 4

Question Number : 94 Question Id : 2105294955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order:

A. Tattvarthadhigama

B. Jainatarkabhasa

C. Mahapurana

D. Upasakadasa

E. Saddarsana samuccaya

Choose the correct answer from the options given below

1.D,E,C, B A
2ADECB
3ECBAD
4.C,B,ADE
Options :

21052919573. 1
21052919574. 2
21052919575.3
21052919576. 4

Question Number : 94 Question Id : 2105294955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad & dIasHraR afeyd &1 -
A, Ty AT
B. OiF dh {THT

C. HeTQRIT

D. SU Dl

E. WgaRH 9q=g
i fau e fdmedl & 9 981 3w 9 -

1.D,E,C, B A
2ADECB
3ECBAD
4.C,B,ADE
Options :

21052919573. 1
21052919574. 2
21052919575.3
21052919576. 4

Question Number : 95 Question Id : 2105294956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order:

A. Yasovijaya

B. Hemcandra Sari

C. Kundakunda

D. Virasena

E. Haribhadra Sari

Choose the correct answer from the options given below

1.B,A, CD,E
2ZACEBD
3.CD,EBA
4. C,EDB A
Options :

21052919577. 1
21052919578. 2
21052919579. 3
21052919580. 4

Question Number : 95 Question Id : 2105294956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafifiad &l dIasHER afyd Sifl ;
A. TRIIdo

B. §Hd% giR

CPadw

D. dREH

E. BRYE gR
e feu e fomeaf & O wel S I -

1.B,A, CD,E
2ZACEBD
3.CD,EBA
4. C,EDB A
Options :

21052919577. 1
21052919578. 2
21052919579. 3
21052919580. 4

Question Number : 96 Question Id : 2105294957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Jainism, which of the following sects DO NOT accept the salvation of women
during the present birth?

A. Nandisamgha

B. Kharataragaccha

C. Bisapantha

D. Tapagaccha

E. Sthanakavasi

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A and C only
Options :
21052919581. 1
21052919582. 2
21052919583. 3
21052919584. 4

Question Number : 96 Question Id : 2105294957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SHYH @ IR 3aAH Siiad (M9) © T D1 AEIE Tel aial, TH1 Y SUe WiER el &l ;
A, FfeEY

B. WAV

C. diguy

D. TURTS

E. ®HDarEl

i fu e fawedt & @ 9 S g -

1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4 HITA AR C
Options :
21052919581. 1
21052919582. 2
21052919583, 3
21052919584, 4

Question Number : 97 Question Id : 2105294958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following texts were written by Acarya Akalanka Bhatta
A. Nyayaviniscaya

B. Astapahuda

C. Astasahassri

D. Astasati

E. Laghiyastraya

Choose the correct answer from the options given below:

1. B, C and D only
2. A, DandE only
3. A, Cand D only
4. B, Cand E only
Options :
21052919585 1
21052919586. 2
21052919587. 3
21052919588. 4

Question Number : 97 Question Id : 2105294958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AT 3 HE ERI1Y U= ferd T & -
A, Orafafsm

3. HPUES

C. HETEH!

D. STl

E. THTaY

<4 fGu T faspedl # 9 951 SR 94 -
1. ®ad B, C AR D
2.%ad A DIRE

3. Bad A, C AR D
4, &dAB, CARE

Options :

21052919585. 1
21052919586. 2
21052919587. 3
21052919588. 4

Question Number : 98 Question Id : 2105294959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Rajiv Gandhi Action Plan for Nuclear Weapon Free and Non-violent World Order of 1988
called for a

A. Non-Violent world order

B. Global nuclear disarmament

C. Campaign for eradication of the deadly pathogen

D. Strategic partnership

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3.Cand D only
4. A and B only
Options :
21052919589. 1
21052919590. 2
21052919591. 3
21052919592. 4

Question Number : 98 Question Id : 2105294959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1988 301 B AMUDIG RGN AR TS Gy T BI Tl el SR g & 34 Y -
A, faysridig sifgan

B. AT TRAY] - TRATHRUT

C. HER fquIY] - 3T - MM

D. IHf® FrEieRt

i feu v fasedl & € w8l SR 9
1. Bad A AR D

2. HaAAB AR C

3. ®aA C 3R D

4. Had A 3R B

Options :

21052919589. 1

21052919590 2

21052919591. 3
21052919592. 4

Question Number : 99 Question Id : 2105294960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Jainism, which of the following statements are correct?
A. The composition of Siddhasena is Pramanapra-meyakalika

B. The meaning of Adharma is ‘assisting in providing stability’

C. The composition of Hemchandra is Syadvadamanjari

D. Jaina Agamas were put to writing during the Vallabhf recitation

E. The meaning samvara is to stop the incoming Karmas

Choose the correct answer from the options given below:

1. A, D and E only
2. B, D and E only
3. A, Band Conly
4. A, B and D only
Options :
21052919593. 1
21052919594. 2
21052919595.3
21052919596. 4

Question Number : 99 Question Id : 2105294960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SYH & SR T PUT el § -

A. THTOT GO fordT e grRIfud @
8. 31eH @ o B - TR H werar

C. WIgTG Holll 899 gR1I=d §

D. oiF SWTH gearHl araHT | ford 7 o
£. BHI b HFTHA DI BT GaR D1 314 3
i U e faeal # 9 98l SR 9 -

1. Bad A, D 3R E
2. A B, D AR E
3. PAUA, B IR C
4 HIAA BIARD
Options :
21052919593 1
21052919594, 2
21052919595, 3
21052919596. 4

Question Number : 100 Question Id : 2105294961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Nirvana in Jainism is :

A. Freedom from the cycle of birth and death

B. Fulfilment of prosperity

C. Freedom from all actions

D. Eleven stages (Pratimas) of Householders

E. Freedom from Krodha, Mana, Maya, and Lobha (Kasaya)
Choose the correct answer from the options given below:

1. A, Cand E only
2. A, Band Conly
3.C, D and B only
4. A, B and E only
Options :
21052919597. 1
21052919598. 2
21052919599. 3
21052919600. 4

Question Number : 100 Question Id : 2105294961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



oF yH H Far g
A. S 3R §g & 9% 9 Hidd

B. dlifcod Ui ®I g
C. THE ®HI 9 Hidd

D. e B TURE 3aeUId (UiHTY)

E. 1%, 7, 5T 3R Y (6ur) ¥ gfdd
i feu TTu fasedl & 9 981 SR g -

1. B A, C 3R E

2. BAUA, B AR C

3. PaAC, D 3R B

4, BT A, B IARE

Options :

21052919597. 1

21052919598. 2

21052919599. 3
21052919600. 4

Question Number : 101 Question Id : 2105294962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In India, October 2" is celebrated as:-

A. Mahavir Jayanti

B. Gandhi Jayanti

C. Environment Day

D. Non-Violence Day

E. Science Day

Choose the correct answer from the options given below:

1. A and E only
2. C and E only
3. B and D only
4. A and C only
Options :
21052919601. 1
21052919602. 2
21052919603. 3
21052919604. 4

Question Number : 101 Question Id : 2105294962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HYRAH 2 feR 39 ©UH A Sldl &
A. ABTAR Sl

B. TITeft St

C. JTiaRY fead

D. 3fedl feay

. fagm feaw

i U e faeal # 9 98l SR 9 -

1. Bad A AR E
2. Had C 3R E
3. Had B 3R D
4 BT A MR C
Options :
21052919601 1
21052919602. 2
21052919603. 3
21052919604. 4

Question Number : 102 Question Id : 2105294963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Jaisalmer is famous as

A. Jain education centre

B. Birthplace of Neminatha

C. Jain Manuscripts Centre

D. Publishing of Jain Research Journal

E. Oldest Jain temples

Choose the correct answer from the options given below:

1. A and C only

2. B and D only
3.Cand E only

4. A, B and D only
Options :
21052919605. 1
21052919606. 2
21052919607. 3
21052919608. 4

Question Number : 102 Question Id : 2105294963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AR 399 fou s B
A o frem g

B. AfEATY BT FHH

C. o UIUgfaf o

D. o Ty GHST BT UH1EH

E. AT i Hig

i feu TTu fasedl & 9 981 SR g -
1. Bad A 3R C

2. Had B AR D

3. HAACHRE

4, HAAA, B3R D

Options :

21052919605. 1

21052919606. 2

21052919607. 3
21052919608. 4

Question Number : 103 Question Id : 2105294964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

A, Siddhiviniscaya . Yasovijaya

B. Lalita Vistara Il. Akalavika

C. Desinamamala lIl. Haribhadra
D. Nayarahasya IV. Hemchandra

Choose the correct answer from the options given below:

TA-NLB-IV,C-1,D-1
2ZA-1,B-N,C-1V,D-I
3A-LB-1IL,C-1I,D-1IV
4 A-IV,B-LC-II,D-1I
Options :

21052919609. 1
21052919610. 2
21052919611. 3
21052919612. 4

Question Number : 103 Question Id : 2105294964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tt -1 B Il -11 & Ty gAferd difo .

gl -| -1l

a. Tafgfategg KEICED]
B. Tferd faea? II. 3fBTih
C. GEIATHET . g
D. TREH™ V. BHES
d fgu e fasedl & wel 3w g :

TA-NLB-IV,C-1, D-1I
ZA-1IL,B-N,C-1V, D-1
3A-LB-1IL,C-1Il, D-IV
4 A-IV,B-L,C-1l, D-1N
Options :

21052919609. 1
21052919610. 2
21052919611. 3
21052919612. 4

Question Number : 104 Question Id : 2105294965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A, Darsandvarana l. Dana

B. Mohaniya Il. Styanagrddhi
C. Mama I Mithyatva

D. Antaraya V. Sarhghata

Choose the correct answer from the options given below:

T.A-IV,B-1,C-1,D-1
2ZA-1LB-IV,C-1,D-1I
3A-LB-1IL,C-1I,D-1IV
4 A-ILB-N,C-IV,D-I
Options :

21052919613. 1
21052919614. 2
21052919615. 3
21052919616. 4

Question Number : 104 Question Id : 2105294965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| gl -1l

A. GRHTER . G

B. Hig-1g . TS
C.d™ 1. fregrea
D. AR V. HYTd
d fgu e fasedl & wel 3w g :

T.A-IV,B-1,C-1l, D-1
2ZA-1ILB-1V,C-1, D-I1
3A-LB-1IL,C-1Il, D-IV
4 A-ILB-N,C-1IV, D-1
Options :

21052919613. 1
21052919614. 2
21052919615. 3
21052919616. 4

Question Number : 105 Question Id : 2105294966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Rjumati . Srutajiiana

B. Bhavanugami |Il. Matijfidna

C. Avaya Il Avadhijfidna

D. Angapravista |IV. Manahparyayajfiana

Choose the correct answer from the options given below:

TA-NLB-I,C-1,D-IV
2ZA-IV,B-NILC-1,D-1I
3A-1LB-IV,C-1I,D-1
4 A-ILB-1,C-1V,D-1
Options :

21052919617. 1
21052919618. 2
21052919619. 3
21052919620. 4

Question Number : 105 Question Id : 2105294966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



y -l

A, T R GEIE

B. HaTH! 1. AfcRIE

C. 3ag 1. HafeRH
D. 3 TUfAP V. B O4EH
d fgu e fadedl & wel IR g :

TA-NLB-1,C-1, D-1IV
ZA-IV,B-NIILC-1l, D-1
3A-1LLB-IV,C-1l, D-1I
4 A-ILB-1,C-1vV, D-1I
Options :

21052919617. 1
21052919618. 2
21052919619. 3
21052919620. 4

Question Number : 106 Question Id : 2105294967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Gandhiji, the concept of 'Decentralisation’ is based on :

1. Square

2. Triangle

3. Pyramid

4. Oceanic
Options :
21052919621. 1
21052919622. 2
21052919623. 3



21052919624. 4

Question Number : 106 Question Id : 2105294967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

el & SR, * [Ah-gier B S@yRon Fgfafad 5 9 39 1R i o -

1.3

PRELC
3. e

4, HETENTRS
Options :
21052919621. 1
21052919622. 2
21052919623. 3
21052919624. 4

Question Number : 107 Question Id : 2105294968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gandhiji took the vow to serve Daridra-Narayana and serving the nation at

1. South Africa

2. Bombay

3. Shanti Niketan
4. Poona
Options :
21052919625. 1
21052919626. 2
21052919627. 3
21052919628. 4



Question Number : 107 Question Id : 2105294968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
el = 98T W TR TR0 SR Y f WaT o3 D A9y off

1. GI&I0T 3R]
2. did

3. FifdHda
4.

Options :
21052919625. 1
21052919626. 2
21052919627. 3
21052919628. 4

Question Number : 108 Question Id : 2105294969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Internaticnal Day of Non-violence is celebrated on

1. 16" April

2. 12" August
3. 2" October
4. 8™ October
Options :
21052919629. 1
21052919630. 2
21052919631. 3
21052919632. 4

Question Number : 108 Question Id : 2105294969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TPy Hfgwr oy 39 e A san g

1. 16 30

2. 12 A
3.2 AR
4.8 LR
Options :
21052919629. 1
21052919630. 2
21052919631. 3
21052919632. 4

Question Number : 109 Question Id : 2105294970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

During which one of the following movements, Gandhiji called himself 'Sardar's Soldier'?

1. Salt Satyagraha

2. Non-Cooperation Movement
3. Quit India Movement

4. Bardoli Satyagraha

Options :

21052919633. 1

21052919634. 2

21052919635. 3

21052919636. 4

Question Number : 109 Question Id : 2105294970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



=Y HiGia & SR el = W90 &1 * TG & FauTel” del Y ;

1. 7H9® GATIR
2. JHETNT 3MaIcH

3. YRd - @ISl 3Tglad
4, SRGIC 9A™8
Options :
21052919633. 1
21052919634. 2
21052919635. 3
21052919636. 4

Question Number : 110 Question Id : 2105294971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

During the Quit India movement, the call for 'Do or Die’ was given by

1. Sardar Patel

2. Rabindranath Tagore
3. Mahatma Gandhi

4, B. R. Ambedkar
Options :

21052919637. 1
21052919638. 2
21052919639. 3
21052919640. 4

Question Number : 110 Question Id : 2105294971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



R SIS AGIa- & QR * ® a1 JR &1 AEH 37 gRT G a7 o7 -

1. T¥GR Ued

2. AE= A TR
3. T e

4, TR HESIR
Options :
21052919637. 1
21052919638. 2
21052919639. 3
21052919640. 4

Question Number : 111 Question Id : 2105294972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Gandhiji began the historic Dandi March from :

1. Borsad

2. Dandi

3. Navsari

4, Sabarmati Ashram
Options :
21052919641. 1
21052919642. 2
21052919643. 3
21052919644. 4

Question Number : 111 Question Id : 2105294972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



el = Ufaete ais! O g8l ¥ SRy fHar o -
1. 9RETS

2. Gist

3. 799l

4, GreRHdl 3H1%H

Options :

21052919641. 1

21052919642. 2

21052919643. 3
21052919644. 4

Question Number : 112 Question Id : 2105294973 Question Type : MCQ Option Shuffling : No Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: According to Gandhi, the Charkha or the spinning wheel is India's Kdmadhenu.

Reason R: The spinning wheel can be easily and cheaply made.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

: Yes Is



21052919645. 1
21052919646. 2
21052919647. 3
21052919648. 4

Question Number : 112 Question Id : 2105294973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T gl By RN E : U B ATUHYH (A) 3R GO & d& (R) Bel T g

HYEHYA (A) ; Tl S & SUR, TRE YR & HY Bl

d® (R) : TG (wheel ) B THT U g &1 99101 ol ddl g
UG B b el H FFifed fqdedl & I 81 3w 94 -
1. (A) 31X (R) GHFT TE1 & 31X (R), (A) BT el ARAT &1 q
2. (A) sﬁ?gﬁjﬁﬁmﬁ’l%uﬁ{m, (A) I Gel SR el &
3. {ﬁ]ﬂﬁp[%:ﬂjrﬁﬂﬂ (R) & &

4. (A) I & e (R) TET B

Options :

21052919645, 1

21052919646. 2

21052919647. 3
21052919648. 4

Question Number : 113 Question Id : 2105294974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: Gandhiji stated that "l do not give vent to anger’

Statement II: The anger is transmitted into power over man and material

in light of the above statements, choose the correct answer from the options given below.

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052919649. 1

21052919650. 2

21052919651. 3

21052919652. 4

Question Number : 113 Question Id : 2105294974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIERAGAIC A g F

@Y - | TN off 4 Her B By B Sifiefad 98l dRargl -
U - 11 : 1Y A4 9 verd | e & IfT g g

Judad HYHl & 3eiie H FEiaREd [de el J 9 98 I I -
1. @Y | 3R 11 EFT TS B

2. @Y | AR I EF T B |

3.%Y 190 8, g By 1 7Tad & |
4. DY | HTA B, fod BY 11 TET B




Options :

21052919649. 1
21052919650. 2
21052919651. 3
21052919652. 4

Question Number : 114 Question Id : 2105294975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order from eldest to youngest

A. Hari Lal
B. Devdas
C. Ramdas
D. Manilal

Choose the correct answer from the options given below

1. A BCD
2ACDB
3.A,B,D,C

4. A, D CB
Options :
21052919653. 1
21052919654. 2
21052919655. 3
21052919656. 4

Question Number : 114 Question Id : 2105294975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafeifad o BIareH 3 oaiyd 33 (Fad 98 3 964 Bid)
A, glard

B. GAaId

C.{Hald

D. Hufiea

froifed el 3 3 v S g -

1. A BCD
2ACDB
3.A,B,D,C

4. A, D CB
Options :
21052919653. 1
21052919654. 2
21052919655. 3
21052919656. 4

Question Number : 115 Question Id : 2105294976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order from the earliest to more recent

A. Gandhi's fast in New Delhi for communal unity.

B. Gandhi begins 21 days fast as an appeal from Government to God for justice.

C. Gandhi begins fast because he is not allowed to work for untouchables while in prison.
D. Gandhi begins a fast unto death in protest of separate electorates for untouchables

E. Gandhi begins fast unto death at Rajkot to protest the refusal by the local prince and to
keep a promise made to the people.

Choose the correct answer from the options given below

1.A B CD,E
2B ACED
3ADEBC
4.D,C EBA
Options :

21052919657. 1
21052919658. 2
21052919659. 3
21052919660. 4

Question Number : 115 Question Id : 2105294976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad & drass H gayd & (@4 & HaR)

A. Tl St T SUCTe Udhdl & o =75 facdl H# Sua™

B. TTTefl ff 5 TRBR & 3FRIY W ¢ 18 BR oed’ 21 &4 BT 3uar o™ B &

C. TSl SUATE HRW™ B & it 3¢ o § ERAl & oY B & & Al el ol St
D. 3¥g=gl & foru aferT Hafed ded o faRiy H it ot 5o d IUd & B &

E. TTEfT Sff Aol # RIF IAGHHAR GRT HGIDId B 67T B d o-dl 9 [l alg &I 9418 38
o foIT Jg I IUd J[E & §

i feu TTu fasedl & 9 981 SR g -

1.A B CD,E
2B ACED
3ADEBC
4.D,C EBA
Options :

21052919657. 1
21052919658. 2
21052919659. 3
21052919660. 4

Question Number : 116 Question Id : 2105294977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order from the earliest to the more recent
A. Tolstoy Farm

B. Kocharab Ashram

C. Phoenix Settlement

D. Sabarmati Ashram

Choose the correct answer from the options given below

1. A BCD
2ADCB
3CBAD

4. C, A B D
Options :
21052919661. 1
21052919662. 2
21052919663. 3
21052919664. 4

Question Number : 116 Question Id : 2105294977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FEfeRad ®f 3d 99 S8R URHaH § Ad-aH © $HH 4 ogaiedd dY ;
A. T B

B. DIERd H1SH

C. B St

D. HIERH! SAT3H

fFgifd fa®edl § € T8l 9k g -

1. A BCD
2ADCB
3CBAD

4. C, A B D
Options :
21052919661. 1
21052919662. 2
21052919663. 3
21052919664. 4

Question Number : 117 Question Id : 2105294978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following books was NOT written by Mahatma Gandhi?
A. Hind Swaraj

B. The Power of Non-violence

C. Why Prohibition!

D. Key to Health

E. Constructive Programme

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. D and E only
4. A and E only
Options :
21052919665. 1
21052919666. 2
21052919667. 3
21052919668. 4

Question Number : 117 Question Id : 2105294978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad q&® AT i grI a1 o 718 8
I CERCHE]

B. T UIaR W A - argely

C. ®Y Uifgliex=

D. B oA

E. thecided U™

fFgifd fa®edl § € T8l 9k g -

1. BT A AR D
2. Paa B3R C
3. PaaD ARE
4 BT A ARE
Options :
21052919665. 1
21052919666. 2
21052919667. 3
21052919668. 4

Question Number : 118 Question Id : 2105294979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gandhi summed up Tolstoy's teaching in the Indian Opinion, 02/09/1905 as follows
A In this world, men should not accumulate wealth.

B. Man is born to do his duty to his Creator; he should, therefore, pay more attention to his
duties than to his rights.

C. Everyone should take part in the fighting.
D. Agriculture is not a true occupation of man.

E. No matter how much evil a person does to us, we should always do good to him. Such is
the commandment of God and also His Law

Choose the correct answer from the options given below

1. B, D and E only
2. A, B and E only
3. A, Band Conly
4. B, Cand D only
Options :
21052919669. 1
21052919670. 2
21052919671. 3
21052919672. 4

Question Number : 118 Question Id : 2105294979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



25T sifufaa, 2 - 9 - 1905 F il Sff 7 eiavei & IUGRI & IR & FEIUR Uegd o -
A. GIFTT H 79 @1 YUl Tshid 981 B dliey

B. A 0 &l & Uid 310 GIERd &1 I $I & (o7 oFF Tl &: SHIAE 99 30 USRS 31
HUT 31U+ aIfial WY 3iffie & o1 91ge

C. uy ¥ ydics ol fgedn o1 91y
D. HfY AIFg &1 =1 HaEE Tel &

£. Bl §HR I faraT off 91 &% 5 St Ty SRR 331 BT AIfey, UHT G &1 G &
HR IuP! f[aurg +fi g

fFrifed faeal 9 T8l SR g -

1. ®9d B, D 3R E
2. BauA, B IARE
3. PAUA, B IR C
4, &da B, C AR D
Options :
21052919669. 1
21052919670. 2
21052919671, 3
21052919672. 4

Question Number : 119 Question Id : 2105294980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The steps in a Satyagraha campaign are

A. Negotiation and Arbitration

B. Agitation

C. Fighting

D. Non-cooperation

E. Violent labour strikes

Choose the correct answer from the options given below:

1. A, D and E only
2. B, Cand D only
3. A, B and D only
4.C, D and E only
Options :
21052919673. 1
21052919674. 2
21052919675. 3
21052919676. 4

Question Number : 119 Question Id : 2105294980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TARTE HHIH & RO

A. S1ddid 9 ARyl

B. 3T

C. g9y

D. 3EEN

£. [0 4if@ godid

fFgifd fa®edl § € T8l 9k g4 -

1. Bad A, D 3R E
2. Had B, C 3R D
3. BaAdA, B 3R D
4. H3AC, DIARE
Options :
21052919673 1
21052919674. 2
21052919675. 3
21052919676. 4

Question Number : 120 Question Id : 2105294981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gandhi's ultimate ideal 'Ram-Rajya’ is:

A. Ideal society in all respects

B. Replacement of the British Army by a national army of occupation
C. The Kingdom of Righteousness on Earth

D. The Hindu Raj

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3. A and C only
4. A and D only
Options :
21052919677. 1
21052919678. 2
21052919679. 3
21052919680. 4

Question Number : 120 Question Id : 2105294981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tieliolt & el IR §

A. g1 el H aewl gAe

B. ferfe=r I &1 AT T gRT Wi
C. gudl qR Afddhar & =

D. fggua
Fgifdd fadeul H 4 T8l IR o -

1. &dd A 3R B
2. ®ad C R D
3. HAU A 3R C
4. HITAARD
Options :
21052919677. 1
21052919678. 2
21052919679. 3
21052919680. 4

Question Number : 121 Question Id : 2105294982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gandhiji tried to appeal to all Indians

A. By giving up western cloth

B. By adopting a simple lifestyle

C. By speaking English

D. Favouring more influential people

E. Focusing on rights only

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. D and E only
4. A and E only
Options :
21052919681. 1
21052919682. 2
21052919683. 3
21052919684. 4

Question Number : 121 Question Id : 2105294982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TiEfel 4 YRAE! ¥ Fafciad | 9 gue! o & 491
A. Ui T BT I DA B

8. HIYRYT Siia2Ieil U= Bl

C. Sl HI9T H SieH @l

D. Sfidh YHIGRITC TR &I Gl & &l

E. had USRI W &M bisd D B

i f&u ¢ famedl # 9 Wl I g :

1. ac A 3R B

2. Haa B AR C

3. PaaD ARE
4 BT A ARE
Options :
21052919681. 1
21052919682. 2
21052919683. 3
21052919684. 4

Question Number : 122 Question Id : 2105294983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Basic Human Rights include:

A. Right to life and liberty

B. Right to equality

C. No freedom of opinion and expression

D. Right to freedom from slavery and torture

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. A and D only
Options :
21052919685. 1
21052919686. 2
21052919687. 3
21052919688. 4

Question Number : 122 Question Id : 2105294983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o AFAIYSRI H e g -
A, Siia 3R dadr @1 AfIeR

B. THI BT HYPR

C. TR 3R sif¥agied &1 Wesdl gl

D. GrEdl 3R A0 ¥ Fid &1 TSR

i f&u 7Y fgoedl & @ 981 3w gHU:

1. &dd A 3R B
2. Had B 3R D
3. Had C 3R A
4, HIAD 3R A
Options :
21052919685. 1
21052919686. 2
21052919687. 3
21052919688. 4

Question Number : 123 Question Id : 2105294984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hind Swaraj consists of

A. 20 dialogues

B. 24 dialogues

C. Dialogues between Editor, Gandhi and the Reader

D. Dialogues between Gandhi and the Reader

Choose the correct answer from the options given below:

1. A and C only
2. B and C only
3. B and D only
4. A and D only
Options :
21052919689. 1
21052919690. 2
21052919691. 3
21052919692. 4

Question Number : 123 Question Id : 2105294984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fEe T HE

A. 20 §aTg

B. 24 Hdlg

C. HuTe® 3R i & o4 4G ¢

D. Tl 3R Ure®! & did HalG g

i f&u 7Y fgoedl & @ 981 3w gHU:

1. B A AR C
2. Paa B3R C
3. Had B 3R D
4. HITAARD
Options :
21052919689. 1
21052919690. 2
21052919691 3
21052919692, 4

Question Number : 124 Question Id : 2105294985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. The Kingdom of God is Within You . David Thoreau

B. Practical Non- Violence ll. John Ruskin

C. Civil Disobedience lIl. Leo Tolstoy

D. Unto This Last V. K.G Mashruwala

Choose the correct answer from the options given below:

TA-LB-IV,C-1I,D-1
2ZA-1LB-IV,C-1,D-1I
3A-IV,B-NIILC-1,D-1
4 A-ILB-IV,C-1,D-1
Options :

21052919693. 1
21052919694. 2
21052919695. 3
21052919696. 4

Question Number : 124 Question Id : 2105294985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| -1l

A fhisH HG Mg gu falca g . Sfds 4RI

8. Ufdedd A4 alacg 1, S TR

c. fofga femanfafetg 1. fersft elaera
D. 3¢ f[gu dre V. ST Tl
- feu 70 f9@eal & O U SR g :

TA-LB-IV,C-1Il, D-1I
2ZA-1ILB-1V,C-1, D-I1
3A-IV,B-NIILC-1, D-1I
4 A-ILB-IV,C-1, D-1I
Options :

21052919693. 1
21052919694. 2
21052919695. 3
21052919696. 4

Question Number : 125 Question Id : 2105294986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

A. Gandhi wields the Weapon of Moral Power . Joan V. Bondurant
B. War without Violence Il. Nirmal Kumar Bose
C. Studies in Gandhism l1I. Krishnalal Sridharni
D. Conqguest of Violence: The Gandhian Philosophy of Conflict  |IV. Gene Sharp

Choose the correct answer from the options given below:

TA-IV,B-1,C-1I,D-1
2ZA-1LB-IV,C-1,D-1I
3A-ILB-NLC-1V,D-I
4 A-1L,B-IV,.C-lILD-1
Options :

21052919697. 1
21052919698. 2
21052919699. 3
21052919700. 4

Question Number : 125 Question Id : 2105294986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

H\_t’ﬁ'l -1l
A, TTiE gl § 9o 3% HRd dia) . S dl. dige<
RS - IREERE LN
' GIE:]
. 1. ST
C e 24 e Siterst
D. BB HB Ay ; T YT [Bargie! HHm V. <z
- feu 70 f9@eal & O U SR g :

TA-IV,B-1I,C-1l, D-1
2ZA-1ILB-1V,C-1, D-I1
3JA-ILB-NULC-1IV, D-1
4 A-1,B-IV,C-lll, D-1
Options :

21052919697. 1
21052919698. 2
21052919699. 3
21052919700. 4

Question Number : 126 Question Id : 2105294987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Prince of Patriots . Kaka Kalelkar

B. Iron Man Il. C.F Andrews

C. Mamaji IIl. Subhash Chandra Bose
D. Deena-Bandhu V1. Sardar Patel

Choose the correct answer from the options given below:

TA-IV,B-1,C-1I,D-I
2ZA-1,B-N,C-1V,D-I
3A-1LB-IV,C-1I,D-1
4 A-ILB-IV,C-I,D-1
Options :

21052919701. 1
21052919702. 2
21052919703. 3
21052919704. 4

Question Number : 126 Question Id : 2105294987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| T -1

A, TI=T 316 Tfgadey . DI DIAADT
B. TR B 1. 1. U, Tggw
C. TSl 1. GHIY T5 &Y
D. &I - §Y V. TRER Ued
- feu 70 f9@eal & O U SR g :

TA-IV,B-I1,C-1ll, D-1
ZA-1IL,B-N,C-1V, D-1
3A-1LLB-IV,C-1l, D-1I
4 A-IILB-IV,C-I, D-1
Options :

21052919701. 1
21052919702. 2
21052919703. 3
21052919704. 4

Question Number : 127 Question Id : 2105294988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ranajit Guha is the editor of a series of volumes on:

1. Subaltern Studies

2. India's Freedom Movement
3. Economic Development

4. Nuclear Non-Proliferation
Options :

21052919705. 1

21052919706. 2

21052919707. 3



21052919708. 4

Question Number : 127 Question Id : 2105294988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST TET Fefeiad o 4 59 favg & 9R ¥ 9vsi $1 Ue 4Ed & UueE § -
1. SR 3T

2. YRd &1 o=l g
3, fife farg

4. UIHT] HUHR
Options :
21052919705. 1
21052919706. 2
21052919707. 3
21052919708. 4

Question Number : 128 Question Id : 2105294989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
During this incident, Gandhiji announced a "Fast Unto Death’

1. Champaran Satyagrah

2. Kheda Satyagrah

3. Civil Disobedience

4. Ahmedabad Mill Workers' Strike
Options :

21052919709. 1

21052919710. 2

21052919711. 3

21052919712. 4



Question Number : 128 Question Id : 2105294989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
el 9 29 e & SR “HHEI0 3 9iftd foar ot -

1. DR Hedlie

2. W3 g8

3. 9T aq AGIaH

4. IEHCIEIG Hd - A9igl s
Options :

21052919709. 1

21052919710, 2

21052919711 3

21052919712. 4

Question Number : 129 Question Id : 2105294990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Daisaku lkeda is popularly known as:

1. Japanese Gandhi
2. African Gandhi

3. American Gandhi
4, British Gandhi
Options :
21052919713. 1
21052919714. 2
21052919715. 3
21052919716. 4

Question Number : 129 Question Id : 2105294990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

SIS Sohal Bl 38 AIeuy A" U JHE S & ;

1. SO e
2. 3MbIehT et
3. 3HR@®! el
4, fafewr i<
Options :
21052919713. 1
21052919714. 2
21052919715. 3
21052919716. 4

Question Number : 130 Question Id : 2105294991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

India’s no-first-use palicy refers to:

1. A pledge not to use nuclear weapon as a war-fighting means unless first attack by an
adversary with nuclear weapon

2. To eradicate chemical weapons

3. To eradicate biological weapons

4. A coercive strategy

Options :

21052919717. 1

21052919718. 2

21052919719. 3

21052919720. 4

Question Number : 130 Question Id : 2105294991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
YRd B YA JUIRT 8] d Sl Aifd e e dad g -

1. Old T &1 HidUai A ORI ¥ Ugdl gHal - &Y, dd dd Jg do- & ot Uh 914 & &4
H URHY] SIYART &1 3G A @3- $i U Wil

2. IS SHART &1 34

3. Wlide ORI &1 3+ cH

4. 9R - FeRG& ®I 0T

Options :

21052919717. 1

21052919718. 2

21052919719. 3

21052919720. 4

Question Number : 131 Question Id : 2105294992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: Social bases are structures of collective action and social interaction in a society.
Reason R: They can be identified, independently of warfare or future revolt.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052919721. 1

21052919722. 2



21052919723. 3
21052919724. 4

Question Number : 131 Question Id : 2105294992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T FYHRUTUE: 0P B AUHY (A) IR W DI dd (R) Bel ™ & |
HYDHYH (A) : TS -G e f56d1 a4 THE § Ele =41 561 1 e £
dd (R) : 391 UgdH 4 Ydl Hias & fagie T e & 4 &1 ol 9adl 6
IUdd HYHT & el § Fgifced fadhedl § T T8l S 94 -

1. (A) AR (R) THI el § 91R (R), (A) P el BN G

2. (A) ¥R (R) THT W1 € T (R), (A) BT U1 RS T &

3, (A]“ﬂﬁ%’ﬁﬂ?ﬂ[ﬁ}%%’l

4. (A) 7TTd & IR (R) T8I &

Options :

21052919721 1

21052919722. 2

21052919723. 3
21052919724. 4

Question Number : 132 Question Id : 2105294993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Put the following treaties in their chronological order

A. Treaty of Tlatelolco

B. Treaty of Rarotonga

C. Treaty of Bangkok

D. Treaty of Pelindaba

E. Treaty of Nuclear weapon Free Zone in Central Asia (CANWFZ)
Choose the correct answer from the options given below

1.A CEDB
2 A B CDE
3.CEADB
4. ED,CB A
Options :

21052919725. 1
21052919726. 2
21052919727.3
21052919728. 4

Question Number : 132 Question Id : 2105294993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad el &1 3d DITHATTER Haid HX ;
A, Secliol @l Ty

B. IRISHT @ GfEf

C. i DI G

D. UfersTan &1 Y

e, feRTER 9UA W1 9 37 oo TR a1 9y
i feu TTu fasedl & 9 981 SR g -
1.A,C,ED,B

2.A B, CD,E

3.C,EAD,B

4.ED,CBA

Options :

21052919725. 1

21052919726. 2

21052919727. 3
21052919728. 4

Question Number : 133 Question Id : 2105294994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |: Conflict resolution is not the sole aim of satyagraha.

Statement II: Resolving the conflict was only one aspect of the desired outcome.

In light above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052919729. 1

21052919730. 2

21052919731.3

21052919732. 4

Question Number : 133 Question Id : 2105294994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

DY - | ; [991G &1 THYH IARE © UHHH 3634 8i £
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3.9 I eI e, feg duH 1 WE TR § |
4. ®YF | GEl Tel 5, [ Y 11 I8! B

Options :



21052919729. 1
21052919730. 2
21052919731. 3
21052919732. 4

Question Number : 134 Question Id : 2105294995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Conflict Resolution skills involve

A. Bargaining

B. Mediation

C. Assertiveness

D. Coercion

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
21052919733. 1
21052919734.2
21052919735. 3
21052919736. 4

Question Number : 134 Question Id : 2105294995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e oY= 3 Gad J =i & -
A HiTHTd

B. HegR[dl

C. FygrE®Hdr

D. SlaXGEl

i feu TTu fasedl & 9 981 SR g -
1. A A 3R B

2. HAAB AR C

3. ®Had C 3R D

4, HAA A R D

Options :

21052919733. 1

21052919734. 2

21052919735. 3
21052919736. 4

Question Number : 135 Question Id : 2105294996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are true for the concept of Peace Education?

A. The process of teaching people about the threats of violence and strategies of peace.
B. Oriented towards the values associated with peaceful and harmonious co-existence.
C. It facilitates peace through coercive power.

D. To work against peace, disarmament and social justice.

Choose the most appropriate answer from the options given below:

1. Cand D only
2. A and C only
3. A and B only
4. B and D only
Options :
21052919737. 1
21052919738. 2
21052919739. 3
21052919740. 4

Question Number : 135 Question Id : 2105294996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T+ 278 BT SEUR 8 -

A, T ol fEar &t smeidrait ud wifa &1 Yurifaal § fiféa &
8. RIMF~IqUl UG FEHIaqyl Gesirw © Gafdd geal &f SR il g
C. SIEDRI Aidd gRI Aldd bl G a1

D. Tifd PRS0 quT GHIfo® <O & deg & HA1
Fafaiad Aol § ¥ 98 S 4 -

1. ®AA C IR D

2. Had A 3R C

3. Had A 3R B

4, ®ad B 3R D

Options :

21052919737. 1

21052919738 2

21052919739. 3
21052919740. 4

Question Number : 136 Question Id : 2105294997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

A. Bird Flu L HTN1

B. Coronavirus Il. AID / HIV

C. Acquired Immune Deficiency Syndrome |lll. H5N1

D. Swine Flu V. 2019 - nCov

Choose the correct answer from the options given below:

1. A-llI, B-1l, C-IV, D-I
2. A-1, B-11, C-Iv, D-IlI
3. A-ll, B-1, C-llI, D-IV
4. A-lll, B-Iv, C-ll, D-1
Options :
21052919741. 1
21052919742. 2
21052919743.3
21052919744. 4

Question Number : 136 Question Id : 2105294997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 B Gl -1 F GAfTd difore :

gl -| T -1l
INCELS . HIN1

B. BRI A53H II. AIDS / HIV
C. UPgs 3 shig-d fism lIl. H5N 1

D. e W] IV. 2019 - n CoV
- feu 70 f9@eal & O U SR g :

TA-NLB-I,C-1IV, D-1
2ZA-1,B-1,C-1V,D-1l
3A-ILB-1L,C-1I,D-1IV
4 A-ILB-IV,C-1I,D-1
Options :

21052919741. 1
21052919742. 2
21052919743.3
21052919744. 4

Question Number : 137 Question Id : 2105294998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
As the last child, Mohan was the darling of the family, and was lovingly called

1. Monu

2. Munna

3. Moniya

4, Monit
Options :
21052919745. 1
21052919746. 2



21052919747. 3
21052919748. 4

Question Number : 137 Question Id : 2105294998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HIFER YdH & ¥4 § Higd URaR &1 994 WRI YT 54 WR U Y& RIS 4l ;

1. 91

2. 44

3. HiiFa

4 9=
Options :
21052919745. 1
21052919746. 2
21052919747. 3
21052919748. 4

Question Number : 138 Question Id : 2105294999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gandhi read Ruskin's Unto This Last on the twenty-four hours journey from

1. Durban to Johannesburg

2. Johannesburg to Durban

3. Natal to Durban

4. The Transvaal to the Orange Free State
Options :

21052919749. 1

21052919750. 2

21052919751. 3

21052919752. 4



Question Number : 138 Question Id : 2105294999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et = R =E O U 9E U9 B OE & G A5hA @ 3 ¢ g die Te

1. SX& 9 Sgrga a®

2. SIgrgat § S dd

3. 1T § SXa1 d@

4, TTOATdl U RS Wl Ve db
Options :

21052919749. 1
21052919750. 2
21052919751, 3
21052919752, 4

Question Number : 139 Question Id : 2105295000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The word 'Coolies’ or ‘Samis’, was initially used by Englishman in South Africa to address

1. Indian labour class
2. English Pecople

3. Arabian People

4. Parsi People
Options :
21052919753. 1
21052919754.2
21052919755. 3
21052919756. 4



Question Number : 139 Question Id : 2105295000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HUST GRI "Dl 314dl T Weg DT TIFT AR H a0 ihiel § Hafiad 5 9§ fodl ta @
Halfd B3 & fore fovar mar o -

1. HRAY 4iH® 97 @l
2. 3T Tl Bl

3. 3”4 & TN Bl

4. URE! R bl
Options :
21052919753. 1
21052919754.2
21052919755.3
21052919756. 4

Question Number : 140 Question Id : 2105295001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gandhiji was influenced by which one of the following persons, who was also known as
Shatavadhani?

1. Sheikh Mehtab

2. Raychandbhai

3. Gopal Krishna Gokhale
4. Vinoba Bhave

Options :

21052919757. 1
21052919758. 2
21052919759. 3
21052919760. 4



Question Number : 140 Question Id : 2105295001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tisfielt U aafed O guIfad o forE Iradu™t & ¥4 o 91 Aar o7 ;

1. 919 HgdE
2. JIG Uis
3. 7197l T TTREe
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Options :

21052919757. 1
21052919758.2
21052919759. 3
21052919760. 4

Sub-Section Number : 2
Sub-Section Id : 210529149
Yes

Question Shuffling Allowed :

Question Id : 2105295002 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



Read the given passage carefully and answer the questions that follow

When we examine the Tripitakas of eighteen schools, so far as they are extant, we find an
agreement which is substantial, though not complete. Even the most conservative of the early
schools seem to have added new texts to their collections. However, there is a central body of
Satras (dialogues), in four groups, which is so similar in all known versions that we must
accept these so many recensions of the same original texts. These make up the greater part of
Satra Pitaka, one of the three sections or traditions which make up the Tripitakas. Since it is the
Satra which is recognized as the primary source for the doctrine of Buddhism, we shall
proceed below to take the text which might be critically edited by comparing their different
recensions as the basis of the exposition of the doctrine as it evidently existed before the
schisms which divided the schools. It may be noted here that whatever textual discrepancies
are found hardly affect the doctrine.

Sub questions

Question Number : 141 Question Id : 2105295003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The reason for accepting all recensions of the same sutra as the original text in the collection
of the sutra was

A. They were critically edited by comparing their different recensions as the basis of our
expositions of the doctrine as it evidently existed before the schisms which divided the
schools.

B. Whatever discrepancies were found hardly affect the doctrine.

C. Since it is the sutras which are recognized as the primary source for the doctrine of
Buddhism.

D. Even the most conservative of the early schools seem to have added new texts to their
collection.

Choose the correct answer from the options given below:

1. Cand D only
2. A and C only
3. B and D only
4. A and B only
Options :
21052919761. 1
21052919762. 2
21052919763. 3
21052919764. 4

Question Number : 142 Question Id : 2105295004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two Statements :
Statement |I: Whatever the textual discrepancies found, they hardly affect the doctrine.

Statement lI: The sutras were recognized as the primary source of doctrine, but not all their
recensions of the same texts were recognized as the primary source of the same doctrine.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052919765. 1

21052919766. 2

21052919767. 3

21052919768. 4

Question Number : 143 Question Id : 2105295005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The tendency to add new texts to the Tripitaka-collection was present in

1. All Schools of Buddhism.

2. Some Schools of Buddhism.

3. The most conservative Schools of Buddhism.
4. Only early Schools of Buddhism.

Options :

21052919769. 1

21052919770. 2

21052919771. 3



21052919772. 4

Question Number : 144 Question Id : 2105295006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What was the basis of the division of the schools?

1. It is exposition of the same doctrine in diiferent ways.

2. Many recensions of the same satras.

3. It is schisms that divided the schools.

4. Discrepancies affected the doctrine contained in the satras.
Options :

21052919773. 1

21052919774.2

21052919775. 3

21052919776. 4

Question Number : 145 Question Id : 2105295007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The constituent of the greater part of satra pitaka was

1. There were many recensions of the same original texts.

2. There is a central body of satra.

3. Many recensions of the same texts have been accepted as original.

4. It is the satras which were recognised as the primary source for the doctrine of Buddhism.
Options :

21052919777. 1

21052919778. 2

21052919779. 3

21052919780. 4



Question Id : 2105295002 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (141 to 145)

Question Label : Comprehension

frrafafed o1 ue ok 19 feg g st & I o -

oid g4 18 GG, 98l a@ d & §, & 3eRe Hfics! & ke &d § df 34 UF 3™
TEAd FoR 3l 3, T=fU 98 gul WeAld el o, UHl Udid sidl & [ SRfY®S el H galitsd
wigargl = Ht U4 WU H U 9 WIg §, 9e<eld, IR FHgl H Gl (Yalel) @1 Uh dHald 998 ©
il gt F1d Il H 39 86 db Udh 99 ¢ [ oH 39 Ha 9 3 3Hd U186 JeH] ol a9y
WIHR DAl dligl]

4 PHfted & Ud g1 fgx1 8 Sl 3 diF Wsi a1 Wi &1 Ua 4 g oY e Bfted o
¢, dfd Tl & dig 4 gia @1 ufEs Jid 794 9@ &, 89 59 9, oHaer [ urs -
GRME BT T SR GHICIHD Y TG fhdl ol Gabdl o, Bl [dwde b HRU e H faufad
& Jd 39d oY Dl Rgid &1 ARAT & (61U 3R & w0 & YIRT H1 | gl I8 Jeoia-iy ¢ fd
[l i bR @1 ravd fagaiadi Tae g [sid & uHidd ddl 6|

Sub questions

Question Number : 141 Question Id : 2105295003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Al & U8 H U &l Y2 & 9! G=eH & 5 018 & &9 H Widhd H &I HRU 4T :

A. 9HIGHl & fayad 59 & Jd & Wey | fbgidl @ gARI AR & S8R & ¥ H fafis
GRI1EET St G- & gRI 3401 GHC G FHTe- T T

8. &l Hi fawiiiaat faerd € 3 2 g faid @ wHiiad &dl 8

C. dfcs Al @l 91 o [GGid &1 W Jid 541 91l &

D. U1 Wl BT & @1 SIRIH® SAIGHI H ¥ Faldd wiearal - Hi o0+ W08 H U 9~ &g o
faifed Ao 3 Tl S g -

1. ®dd C AR D
2. Had A 3R C
3. Had B 3R D
4, Had A 3R B
Options :
21052919761. 1
21052919762. 2
21052919763. 3
21052919764. 4

Question Number : 142 Question Id : 2105295004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Taa s RrmE:
HYA - | - o 1t [FEniant el € 9 29G f fagid & yyifdd adl &

®YA - || Al DI Rgid BT WS Fid 41 9141 2, favg 381 94 & G 941 H2ieEl &1 39
fregid 1 uruie |id 76l A1 SId 8|

Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. Y | 3R 1 gFf g8l Bl

2. YT | 3R 1 gFT Tad g |

3 P I T e, g P 1 S TR 7 |
4. DY | GEI -Tel o, fdoq Y 11 Tl B
Options :

21052919765. 1

21052919766. 2

21052919767. 3

21052919768. 4

Question Number : 143 Question Id : 2105295005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fAftce WU H 79U Yl & edleH &1 Ughi foaH dleg 41 2

1. 9z ¥ & Ot gmem

2. 9l Y1 & T el

3. 915 ¥¥ o Gaifdie wigard! 9%gH™
4, $ad dlg ¥ & RS IUe™
Options :

21052919769. 1

21052919770. 2

21052919771. 3

21052919772. 4



Question Number : 144 Question Id : 2105295006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

GE & [GUISH &1 a1 YR YT ?

1. 98 Us ol [aGid @1 i - i UsR 4 s &
2. U Bl QA & 3 UIS - YR

3. fa=seAt 4 gIerEl &1 fauTeH fan

4. A1 ¥ fAfgd fagia o fagafaar 3 wyfad fean
Options :

21052919773. 1

21052919774. 2

21052919775.3

21052919776. 4

Question Number : 145 Question Id : 2105295007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

LD D g3 g DI °9Td Ul ;

1. Uh ol 9a Y & 3 Us-gxieH o

2. DU HEd G &

3. U &l 9 & 3 GRNeHl &l 9 & 4 J Wihd [l T 6

2. g & Rigid Uit i & w0 8 il ol A= A T

Options :

21052919777. 1

21052919778.2

21052919779. 3

21052919780. 4
Sub-Section Number : 3
Sub-Section Id : 210529150
Question Shuffling Allowed : Yes



Question Id : 2105295008 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

Buddhism has been a great force for peace in the world. The Buddha's policy of peace, self-
sacrifice, kindness, and charity finds an echo in the Mahabharata also. This spirit moulded the
lives of numerous saints in medieval India and the great minds of Modern India too, have been
guided by the Buddha's teachings. The influence that the life of the master exercised on
Mahatma Gandhi is self-evident. He turned the principle of Satyagraha into action in his
private and public life and some of the present Indian leaders are the direct heirs of their
Master, the Father of the Indian MNation. JL Nehru, PM of India, has declared times without
number, his firm faith in the peaceful methods of settling disputes at home and abroad. This
accounts for the fact that India has refrained from joining any power bloc. The declared
foreign policy of the Government of India is based on the five rules of conduct, the Pancasila,
itself a Buddhist term, which allows for the possibilities of peaceful co-existence between
peoples of different ideologies.

Sub questions

Question Number : 146 Question Id : 2105295009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the Buddha's policy which has NOT influenced the life of Mahatma Gandhi

1. Self-Sacrifice
2. Self-Evident
3. Satyagraha
4. Charity



Options :

21052919781. 1
21052919782. 2
21052919783. 3
21052919784. 4

Question Number : 147 Question Id : 2105295010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Jawahar Lal Nehru declared his firm faith in this method of the Buddha to settle disputes

1. Pancasila

2. Kindness

3. Satyagraha
4. Charity
Options :
21052919785. 1
21052919786. 2
21052919787. 3
21052919788. 4

Question Number : 148 Question Id : 2105295011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Some of the Indian political leaders are the direct heirs of

1. J. L. Nehru

2. The Buddha

3. Mahatma Gandhi
4, Mahavira
Options :
21052919789. 1
21052919790. 2



21052919791. 3
21052919792. 4

Question Number : 149 Question Id : 2105295012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the policy of the Buddha which does NOT find a place in the Mahabharata?

1. Peace

2. Self-Sacrifice
3. Charity

4, Panchsila
Options :
21052919793. 1
21052919794. 2
21052919795. 3
21052919796. 4

Question Number : 150 Question Id : 2105295013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the teaching of the Buddha which allows for the possibilities of peaceful co-existence

1. Satyagraha
2. Pancasila

3. Self-Sacrifice
4. Charity
Options :
21052919797. 1
21052919798. 2
21052919799. 3
21052919800. 4



Question Id : 2105295008 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 2105295009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

eI g5 @1 39 -ifd ! Ygdn-d forae gere it & sfiad W yyd gl Usi & :

1. T8

2. Wa:fig

3. Hdg

4. Gl
Options :
21052919781. 1
21052919782.2
21052919783. 3



21052919784. 4

Question Number : 147 Question Id : 2105295010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(VBRI

2. ¢4l

3. Hdg

4. GH

Options :
21052919785. 1
21052919786. 2
21052919787. 3
21052919788. 4

Question Number : 148 Question Id : 2105295011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

DS HRA IoHdl 37 Jda SIRITHRI & :

1. SATEAd 8%

2 3%
3. HeTHT i
4, A5G
Options :
21052919789. 1
21052919790. 2
21052919791. 3
21052919792. 4

Question Number : 149 Question Id : 2105295012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

S 31 39 ifd B UgdIHT [0 Ge1yRd o Icoid el 6 :

1. Tifd

2. ATHEIGH
3. G4

4, g=eiid
Options :
21052919793. 1
21052919794. 2
21052919795. 3
21052919796. 4

Question Number : 150 Question Id : 2105295013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

< & 34 e &1 g e ifagef ve-sfia & due faamm & -

1. HARg

2. Ui

3. Al
4. Gl

Options :
21052919797. 1
21052919798. 2
21052919799. 3
21052919800. 4



